H & 0l & AHS B Ml A

AT MAATIFIRS
2 N BFISHHD
B oM QP8 85 (crol: & 2)
ARS| - 2A - B - S9U(SH) - HRAY - BES of as e DS
AA AR R 2 1,156,167,702 1,242,885,295 AB6,717,593
= 271,489,773
2 3,007,520
Jl 38,090,249
Al 799,354,151
T 14,226,000
SHI|=EH M 14,734,371 21,710,769 AN6,976,398
= 1,666,600
Al 13,067,771
NTey 25 14,680, 151 21,651,329 26,971,178
2 1,666,600
Al 13,013,551
=S| S 14,680, 151 21,651,329 N6,971,178
= 1,666,600
Al 13,013,551
=sMI|= 2dAH F 5,380 6,000 2620
202 04l 1,180 1,800 2620
01 2L AL 1,180 1,800 AB20
O=40|% 22IAE =7 0]
1,180,000& 1,180
203 ZR =& 4,200 4,200
03 AIHF=EI AR 4,200 4,200
O=sM)|= HRFA 4,200,000& 4,200
SAD =AY |4 955,100 955, 100 0
201 L2 5,100 5,100
01 Al 22l 5,100 5,100
O=u)|BMe SHBIE S BHLY
2,100,000& 2,100
O=u)|2Me 58935 S 29
3,000,000& 3,000
306 E¢= 950,000 950,000
01 &3 950,000 950,000
O=M)|ZMUTIAHE 22 T8
950,000,000& 950,000
EASE SMAT AHMFH 17,400 17,400 0
201 ZEH2 & 8,000 8,000
01 AFR2t2lt| 8,000 8,000
OBASY =M8FET N S R
2,200,000 2,200
OBAZY=METIANG FHLL
5,800,000& 5,800
203 YR=EH 9,400 9,400
EESSISEE=T 9,400 9,400




P MABHPIAZ
= 2ZI =3
g A=etd 25 (SH &)
/sl -2 - B SRI(S) - AIRAY - BAES of v e HIREZ
OBASE =M44% AIHFA
9,400,000 9,400
sSA)|S 23 SMIIF 88 ¥ X 6,693,120 9,694,563 13,001,443
201 ZBt=Ehl 4,575,920 4,869,549 N293,629
01 At2teltl 4,533,400 4,827,983 N294,583
OGCF GEHH AP ZliE 2 22l
3,070,042,000& 3,070,042
OGCF IBSEHH AR A S0z & 22l
469,867,200 469,868
OGCF #AARA 2Us & 2eldl
264,524,700 264,525
OGGGI, CTON At=d ZUE & 2teldl
106,364,220 106,365
402,600,000 402,600
210,000,000 210,000
10,000,000& 10,000
2,520 1,566 94
2,520,000& 2,520
40,000 40,000 0
- 40,000,000 40,000
203 =] 7,200 7,200
03 AIZ=ZIE 7,200 7,200
Oars 2t 7,200,000 7,200
SRR 10,000 10,000
2tel= 10,000 10,000
F2CHA =2104d] 10,000,000& 10,000
TS| 2,100,000 2,100,000
IFE2 2,100,000 2,100,000
D =8R8 1,400,000,000& 1,400,000
OGCF 2t =Rzl HEITAl RS
200,000,000 200,000
OCTON EElMRa 2ERES
500,000,000& 500,000
Basd M= 59,000 59,000 0
201 2ot d 59,000 59,000
01 Al 2te 59,000 59,000
OEaZHE Yy
7,000,000 7,000
OEASY 18 ¥ 82
50,000,000& 50,000
Oaxsg =U -
2,000,000& 2,000
SHME AU S2AY 26,700 4,700 22,000
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291,720
132,600
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P MABHPIAZ
2 M S30I=EHY
g = Q+ed 25 (SH &)
AR - SN - BB - GBI - HRAY - BAS of v e HIREZ
Al 159,120
01 BAL- SHIA=2HES 291,720 352,015 160,295
OFBIIZAIE 241A 2=F4H| N
291,720,000 291,720
= 132,600
Al 189,120
BASEEAEN(HUX) 23 (HE) 30,000 30,000 0
= 15,000
Al 15,000
301 LetE2AZ 30,000 30,000 0
= 15,000
Al 15,000
HIIEE2d= 30,000 30,000 0
O24a0tA MZEAl dEE X8
30,000,000& 30,000
= 15,000
Al 15,000
BASEEAEN(HUX) 23 (XH) 847,500 693,000 154,500
= 565,000
Al 282,500
308 XXM SOIA 847,500 693,000 154,500
= 565,000
Al 282,500
01 XN BSELES 847,500 693,000 154,500
O=240tA M&oHe AdEE Ks
847,500,000& 847,500
= 565,000
Al 282,500
BASYIEN (XS 29 170,000 140,720 29,280
= 85,000
Al 85,000
308 XXM SOIA 170,000 140,720 29,280
= 85,000
Al 85,000
01 AN BSEES 170,000 140,720 29,280
OEASHIQIEN(XSIH) 22
170,000,000& 170,000
= 85,000
Al 85,000
=R FHAS - N XA 937,500 412,500 525,000
= 625,000
Al 312,500
403 X SHHMSAH=01H 937,500 412,500 525,000
= 625,000
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312,500
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625,000
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400,000
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400,000
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200,000
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400,000
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200,000
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P MABHPIAZ
2 M S30I=EHY
g = Q+ed 25 (SH &)
AR - SN - BB - GBI - HRAY - BAS of v e HIREZ
OQd N7 ZAHFINLSET SHA
900,000,000 900,000
NERES € HHEF IS &+ 2 1,197,000 1,485,000 283,000
308 ARISHMSOIH 1,197,000 1,485,000 283,000
2 =123 1,197,000 1,485,000 288,000
(O= =Pl Fal 4= =g SESnE S|
1,152,000,000& 1,152,000
OtiE=ls d+12= 45,000,000 45,000
QIH=MEATRUE XA AIY) 400,000 400,000 0
307 e12+0ld 400,000 400,000
02 LB A HE X 400,000 400,000
O =MESZXJHE XIS
400,000,000 400,000
SMARKIZHE EX2 184,000 240,000 56,000
= 44,000
Al 140,000
307 el2told 184,000 240,000 56,000
= 44,000
Al 140,000
05 2IZtRAE = 184,000 240,000 56,000
O=M4AMXNALE EX2g
184,000,000 184,000
= 44,000
Al 140,000
NS USRI X2 100,000 300,000 200,000
308 ARISHMSOIH 100,000 300,000 200,000
08 w=I|2A0CHe 2 X 100,000 300,000 200,000
OstZ3un= ddsty 2¢ X2
100,000, 000& 100,000
IS USHE 29 262,000 262,000
307 e12+old 262,000 262,000
05 QI+2(E=2 262,000 262,000
OQEsdHH X
262,000,000 262,000
SN 2SANS (HE) 70,000 70,000
307 212+01H 70,000 70,000
02 QIZHBAMAHEE 70,000 70,000
Oeldesdu=storg 70,000,000& 70,000
HE 23 54,220 59,440 N5,220
Jl23HI(8FII282) 54,220 59,440 N5,220
M2 54,220 59,440 15,220
201 Zet=E] 31,300 34,600 23,300
01 Al2teldl 30,300 33,600 3,300
OFAESE =8 20,316,000 20,316
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PR3 MAFMARAZ
2 M S30I=EHY
8 X dydE2g3| EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
O=gtl 9,984,000 9,984
2 =534l 1,000 1,000 0
Os&R= 1,000,000 1,000
202 Ot 12,120 13,440 A1,320
01 2O 12,120 13,440 21,320
OJI2e: =80l 12,120,000& 12,120
203 LR F2IH| 10,800 11,400 2600
01 Jl22gdR=aH] 6,600 6,600 0
o=z 6,600,000 6,600
04 FAESE A 4,200 4,800 AB00
ORNEgE =AY 4,200,000 4,200
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Al A

PARAZ: MBI HSIRE
2 M =t
& M EDIsZE Y Hs F=&A (SH &)
RZ - RA - - S2(FH) - NIRAY - BLES Off AboH %-:LSFQ.E" HlwnE2
& &=2t 75,356,888 70,718,753 4,638,135
= 1,816,200
Al 73,540,688
Hol22& 2 QS =& 75,320,513 70,682,153 4,638,360
= 1,816,200
Al 73,504,313
MEHIIZ Hel 4,381,662 5,098,521 AT716,859
= 230,000
Al 4,151,662
HolS2& 2 XNOHEMZe AFY =X 2,880,500 3,500,000 A619,500
308 AXISHMSOIN 1,154,500 1,200,000 245,500
01 X SHHBLEES 1,154,500 1,200,000 245,500
CHIISNZRE3 E+123 A AL
466,500,000 466,500
OMEHDI|IE 28 SE2ALIM XAAS(Z
&) 688,000,000& 688,000
403 REXISHHS K201 & 1,726,000 2,300,000 A574,000
01 AXISHHAEER 1,726,000 2,300,000 Ab74,000
CHII2H=28E3 & o
414,000,000 414,000
OMEHD|IZ2 2% = & (Xt
2) 1,312,000,000& 1,312,000
Ctal=J] MALE S8 X3 AL 643,182 672,981 A29,799
= 230,000
Al 413,182
307 QIZt01 A 420,000 400,000 20,000
= 210,000
Al 210,000
02 QIRHEAAIHE R 420,000 400,000 20,000
Otz g7 MALE =& X At
420,000,000& 420,000
= 210,000
Al 210,000
308 AXISHMSOIA 223,182 272,981 A49,799
= 20,000
Al 203,182
01 XX SHNBAEERZ 30,000 99,000 A69,000
OUEI8I| MAlg X
30,000,000 30,000
= 20,000
Al 10,000
13 SI|2SOHEHE & A 193,182 173,981 19,201
O13188 gle &t |22)
=29 K& 193, 182,000& 193,182
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AT MAATIFIRS
2 M TEs
B om HISYY L XS =T (el mel)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
B8ABLY SY=T B2 344,100 411,820 £67,720
201 Q2| 20,700 20,400 300
01 Al 22l 20,000 20,000 0
OBA22Y LXHEY 2HE 7
20,000,0002 20,000
03 SAF2 | 700 400 300
02 AT THY X
700,008 700
301 YBHEHE3 301,500 268,000 33,500
0 ZE IS 100,000 100,000 0
OBBT22 XA (N5t =at
100,000,0002 00,000
14 JIEH2 A 201,500 168,000 3,500
OBZI22 XS S 162,000
oR 7 HYTLW XA
130,000,0002 130,000
oHANN HAZLY 4
22,000,002 22,000
O Ol &II2% SNUEK el A
Xl 28t 49,500, 0002 49,500
307 2I12H0IH 21,900 123,420 A101,520
RIS PN 21,900 123,420 A101,520
OEAT2 ASUE
16,500,002 16,500
OBAB2Z LFAIRH 29X
5,400,002 5,400
MBIHIIE E2 2 1S 498,300 498,000 300
201 Yur2 | 297,000 305,000 8,000
01 Al 22l 100,000 108,000 8,000
ONQIAH Tpes 22
100,000,0002 100,000
03 A2 bl 197,000 197,000 0
OROPI= NA=BDA 29
197,000,0002! 197,000
203 R =] 3,600 13,000 £9,400
RPNEESSIEEES 3,600 13,000 9,400
OXt@&s NS (HRIBy =
3,600,0002 3,600
308 XHXI SHAISOI R 197,700 180,000 17,700
B ErEES] 197,700 180,000 17,700
OXE DS X2 197,700, 0002 197,700
US| AYD| oY 580 720 A140
202 it 580 720 A0
NETEE 580 720 A0
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A BRI 3
A2 =gt
Hol=de & st =4 (SH9 H2)
RS - A - ZH - Oi(]) - MSAY - BES ofl v e RS2
Od=& & NH=N S3EE S
580,0002 580
St=HYI=82 428 Fat 15,000 15,000
201 LetEay| 15,000 15,000
2 =234l 15,000 15,000
Ogt=HII=e2l A3l 15,000,000& 15,000
o Hes 4,192,151 4,887,6% A\695,505
= 323,200
Al 3,868,951
28 g4t =4 3,219,445 3,480,084 260,639
307 2IZtol & 45,000 45,000 0
04 QIZHHARAIH E X 45,000 45,000 0
Odz=g =M LIs3H 23
45,000,000 45,000
308 ARIHMSOIE 2,494,445 3,239,364 AT44,919
01 MASNBLExRS 2,494,445 3,239,364 AT44,919
OM&e & d2HDI= oiatt=E xelbl X
& 190,000,000& 190,000
O ETE =2t 29
644,445,000 644,445
OANE ZcIEANE X N (FEEX)
81,550,000 81,550
OoMgs Itz 2
1,578,450,000& 1,578,450
403 NXISHHM S =201& 680,000 195,000 485,000
01 XEXISHMA 2 22 680,000 195,000 485,000
ONE ZeliEAE 2R NA(MHEEX)
240,000,000 240,000
OFYHEZ 130 X XA
440,000,000 440,000
GsHIIE sAHBAS A 58,206 67,822 19,616
= 17,200
Al 41,006
308 ARISHMSOIE 58,206 67,822 19,616
= 17,200
Al 41,006
01 MM BSEXS 56,800 64,025 18,225
SEHHIE +=A243 55,800,000 56,800
= 17,200
Al 38,600
18 S| 2 SUUSHE 4 ASAI I 2,406 3,797 1,391
OHs%8I1%7 +=AXel NS (SIS
) 2,406,000 2,406
SSdolY =5 32,500 13,000 19,500
= 15,000
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RS AHATSIH
2 N R
oM EDISUY UL XA S (12l M2
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
Al 17,500
403 THXISHHIS XH= 0l & 3,500 13,000 19,500
= 15,000
Al 17,500
0 IEXISHH =S X 32,500 13,000 19,500
OBSHGHE BNV A
32,500,002 2,500
=2 15,000
Al 17,500
SASZHDIZ 25 A 300,000 300,000 0
403 XHXISHHIS XH2 0| & 300,000 300,000
0f MXISHA=EE 300,000 300,000
OBSF FFID 520101 22 =0
300,000,0002 300,000
MET2E|SHE 25 582,000 656,500 A74,500
=2 291,000
Al 291,000
403 XEXISHHIS XH20I & 582,000 656,500 A74,500
=2 291,000
Al 291,000
02 2IIZSOICHE =R RIS AL b 582,000 0 582,000
OAIDIE HERE M2 2% M5
582,000,002 582,000
= 291,000
Al 291,000
ANLEEIIS 22l 580 720 A140
NS X e 580 720 A140
202 04t 580 720 A140
NETEL 580 720 A140
OAZHIIS B2 U SHHDIS oY &
= 580,000 580
TR EBHIE 25 Al 1,406,050 45,540 1,359,510
RREEHE SHEAY = 1,406,050 45,540 1,359,510
201 Ler2 | 139,100 33,600 105,500
01 AtR22lH| 117,100 33,600 83,500
OXtBHE B E2
100,000,002 100,000
OXtESHE 2B £7 S
17,100,002 17,100
03 A2 | 22,000 0 22,000
OX#SHE FOIH0 o E2. 2128, &
23 S 22,000,002 22,000
202 01t 3,450 4,940 A1,490
ET L 3,450 4,940 A1,490
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3 AHBNRIEE
A pE 2t
o HolEHE € s =4 (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
QHIISXIAE 2l & s
1,890,000 1,890
OB Al Tt =gtdlE 2
1,560,000 1,560
208 BF 2| 7,000 7,000
03 A=A R =AY 7,000 7,000
ONE el HEFH
7,000,000 7,000
301 LEtEN S 100,000 100,000
08 212+I=201d 80,000 80,000
OXta=gtdlE] #ixor
80,000,000 80,000
11 HAMHIXIE S 20,000 0 20,000
OBNIE S I =gdE
20,000,000 20,000
308 ARISHMSOIE 5,500 5,500
1B SI 2S00 SX 5,500 5,500
Otlzs1s 5,500,000 5,500
401 AlZHIL 2 0HY] 1,150,000 1,150,000
01 Al&HI 1,150,000 1,150,000
OXt2=gtdly std3ge
950,000,000 950,000
OXt2=gtdly M=
200,000,000 200,000
Z9HIIE XM2AE 29 65,341,070 60,649,716 4,691,354
= 1,263,000
Al 64,078,070
SAXNS HOISXCIANE £X 1,750,800 1,083,100 717,700
= 1,263,000
Al 487,800
403 XIS K= 0l1& 1,750,800 1,083,100 717,700
= 1,263,000
Al 487,800
01 XXM A= 2 X 1,750,800 1,083,100 717,700
OUE 22tAIE £X 556,800,000 556,800
= 486,000
Al 70,800
Oy A20AE 4R 1,194,000,000& 1,194,000
= 777,000
Al 417,000
STHIISHeIAE 29 32,253,194 28,673,359 3,579,835
201 LetE gy 57,400 2,400 55,000
01 At 2teltl 57,400 2,400 56,000
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RS AP
2 M e
oM EDISUY UL XA S (SHol: )
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
T EEEREEERESE
2,400,002 2,400
OZ2MAr 2HTE 2|
55,000, 0002 55,000
308 KX/ SIS 01 26,683,957 25,121,160 1,562,797
13 21 HSHIhe 3 A E S ALY 26,683,957 25,121,160 1,562,797
OSTAASBHE JAH (HSAY]
26,683,957,0002 26,683,957
408 TXISHAIS XH=0I & 5,511,837 3,549,799 1,962,038
02 BSOS A2 RISt At 5,511,837 3,549,799 1,962,088
OBETHABBHE TH2E Y]
5,511,837,0002 5,511,837
HelHDISHIAL 2 25,591,343 25,705,452 ~114,109
201 LBr2 | 1,200 2,400 A1,200
01 AR 22| 1,200 2,400 A1,200
O=2l ZRINAET 810 HM4g
1,200,002 1,200
308 XX SIS 01 20,171,531 19,594,366 577,165
13 21 2SHIChEH A E S EALIY| 20,171,531 19,594,366 577,165
OHANASBHE FAH HHASY]
20, 171,531,002 20,171,531
408 KX SIS KH0I & 5,418,612 6,108,686 690,074
S N E=EEENET 5,418,612 6,108,686 690,074
OHANASZHE KH=H (HAAH]
5,418,612,0002 5,418,612
A o METIRE|SHE 2 4,279,778 3,535,792 743,986
308 XX SIS 01 3,748,524 3,533,384 215,140
13 21 HSUIChEZ A H S ALY 3,748,524 3,533,384 215,140
OLRH 2o MBRAELME FAR Of
S AFIH| 3,748,524,0002 3,748,524
408 TXISHHIS XH=0I & 531,254 531,254
2 B2 SOITHE KH= =PIt At 531,254 531,254
OLSA 2o MERASLME 2N Of
S AFRIH| 531,254,002 531,254
SAXY HIIZHEIAIE 22l 1,000 1,000 0
202 01t 1,000 1,000
01 2LH0iH| 1,000 1,000
OBDIZHIAIL NTHA L 22|
1,000,002 1,000
28014 BB 0 309,135 1,047,522 678,387
201 LBr2 | 309,135 1,047,522 678,387
2 222l 309,135 1,047,522 678,367
OS24 HIER 70) 369, 135,002 309,135
HII2 22 2 MM A=A 1,095,820 649,891 445,929
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ARSI MRIANIAAS
S A MR
3 o3 IS ¥ NEE F (crol:m2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
308 XEXIEHHISOIH 1,096,820 649,891 445,929
P EEREICEESS 1,095,820 649,891 445,929
OTHHIISHRIAE AT 2 - 7 22
8 X@Ae 1,005,820,0008! 1,095,820
BY 2| 36.375 36,600 2225
JI= 2| (X2 36.375 36,600 £225
=N 2| 36.375 36,600 £225
201 Yer2H| 20,155 17,000 3.1%
o1 A2l 17,000 17,000 0
ORAN2 42| 11,800, 0002 11,800
o=zl 5,200, 0002! 5,200
02 222 3.1% 0 3,15
ozz2H| 3,165,0002 3,15
202 01t 2,620 10,000 2,620
01 2LHo!| 2,620 10,000 2,620
OJlzge+8 o 12,620, 0002 12,620
208 P ETH| 3,600 9,600 26,000
M ENSSYRETL| 3,600 3,000 600
ORANegYREAL| 3,600,0002! 3,600
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A2 AAIHPES
2 ON: SFeE
g M 2ESX E d=ed 22 EEREE)
A3 - FA - ZFH - SA(BH) - MRAY - BES Off &H2h %E%E" HwuEZ
OsSoi2e] AN S 400,000 400
207 AR 120,000 120,000
01 A1E9HH| 120,000 120,000
O Boll 2ZBSSEIN 9
120,000,000 120,000
Sy YR2E 29 14,700 14,700 0
201 fer=3| 2,700 2,700
01 At22t2l] 2,700 2,700
OF=2YrTs 2 34 =& S
2,700,000& 2,700
301 EtE NS 12,000 12,000
14 IIEt2 83 12,000 12,000
O3 =2Yx TN 2t S HHl2d
12,000,0002 12,000
ST P RIAIE (R EALY) 150,000 130,000 20,000
308 AtXIEMSOIE 150,000 130,000 20,000
01 HAHHBSEXRS 150,000 130,000 20,000
OAdms FHsH X
150,000,000 150,000
=d0IE XelX& 1,074,000 1,152,000 A78,000
o 716,000
Al 358,000
308 AXIMSOIA 1,074,000 1,152,000 A78,000
o 716,000
Al 358,000
01 XN BSEES 1,074,000 1,152,000 78,000
Ose0IE Melxld 1,074,000,000 1,074,000
= 716,000
Al 368,000
setEd otE & 24,500 124,700 100,200
201 er=3 | 9,000 9,000 0
01 AFR2teltl 9,000 9,000 0
Ozlst=Z otd&e|?2s 84 =& S
6,000,000& 6,000
OztstAtll 2t =S & TI=s|
3,000,000 3,000
202 048l 500 700 A200
01 SLHo4HI 500 700 A200
Oststsd otdze| 88EM S
500,000 500
307 glztol & 15,000 15,000
12 QIZIOILIE W FH| 15,000 15,000
Osofistsisd otdze| us X
15,000,000 15,000
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A2 AAIHPES
2 ON: SFeE
g M 2ESX E d=ed 22 EEREE)
A3 - FA - ZFH - SA(BH) - MRAY - BES Off &H2h %E%E" HwuEZ
AUBIIE 22l 500 700 A200
202 04l 500 700 A200
01 2LHoIH 500 700 A200
OAUBIIE 22l BHZAM S
500,000 500
oS SFEHEEH 22 561,272 300,000 261,272
= 280,636
Al 280,636
307 212+01& 561,272 300,000 261,272
= 280,636
Al 280,636
02 QB YA E R 561,272 300,000 261,272
OQIHAAY FLAMH 2SXd & =
cl 561,272,000& 561,272
= 280,636
Al 280,636
2 D= 12,400 10,000 2,400
201 ZBt=Ehl 11,000 9,000 2,000
01 AtR2tc|HI 11,000 9,000 2,000
OXSGe3LARRS F4 =4 S
4,500,000 4,500
OAZZExAE 2 =€ S
1,500,000& 1,500
O=d2d 82 243t 5,000,000 5,000
202 048l 1,400 1,000 400
01 =LHOHI 1,400 1,000 400
O32d NS SEEMN S
1,400,000& 1,400
sFgddst og 2 At=2L 182,000 0 182,000
= 150,000
Al 32,000
308 XXM SOl 182,000 0 182,000
= 150,000
Al 32,000
01 XN BSELES 182,000 0 182,000
O SsteL A FRUAIISE XA A2
cl 182,000,000 182,000
= 150,000
Al 32,000
Aotets elxel A= 1,435,705 1,558,382 A122,677
= 266,000
Al 1,169,705
neEd 25, 2l 1,435,705 1,568,382 A122,677
= 266,000
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PR MAIHPARE
FOM s3It
8 M ded olme 9= (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 1,169,705
Aogd N ws & RS H 3,245 3,170 75
201 LetE gy 245 170 75
01 Al 2teldl 245 170 75
ONEs FEN H& 245,000 245
301 LetEA=Z 3,000 3,000
1 AMHIXIEZ 3,000 3,000
OXES MOILE SAT 24
3,000,000 3,000
EAF ITEHA APR= 29 589,000 589,000 0
310 =2l01H 589,000 589,000
2 =NFE3 589,000 589,000
OEMFP Al2= 238 539,000,000 539,000
OEMFP AFS= S5 AN 50,000,000 50,000
ENMST dEj2rZ 2435t 230,000 225,000 5,000
201 £er2aY| 10,000 25,000 15,000
01 At 2teltl 10,000 10,000 0
OuUsEg ¥ gxad 82 S
10,000,000 10,000
307 2IZtol & 220,000 200,000 20,000
05 2Zte&3 220,000 200,000 20,000
OXOIM dEfsts2t QIS
220,000,000 220,000
oietd 2 g =4 77,060 333,812 N2, 752
201 Zer= Y| 24,000 34,000 10,000
01 Ab2teltl 24,000 34,000 10,000
OgE3=EHA 0 - 2 SSIMNE 39 &
A 2 HAY S 14,000,000 14,000
ONES U & 3 10,000,000 10,000
202 Ot 3,060 3,060
01 =LHOIHI 3,060 3,060
OB IeE I AEi = AL 3,060,000 3,060
401 AlZHIL S CHY] 50,000 50,000
01 A2 50,000 50,000
OO x= F3Lss SN
50,000,000 50,000
oY & - A= 23 41,200 41,200 0
201 £eH2aY| 11,200 11,200
01 At 2teltl 10,000 10,000
O0rd 412 2582 F
10,000,000& 10,000
2 =234l 1,200 1,200 0
OS2 2AUSE 222842 29 3302
1,200,000 1,200




PR MAIHPARE
FOM s3It
8 M ded olme 9= (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
307 2IZtol & 30,000 30,000
02 QZHEMAIH S X 30,000 30,000
OAUs ws & =82 T2 e - 29
X2 30,000,000 30,000
Fage OkdsE 2= & A=l X2 20,000 20,000 0
308 XXISHMSOIA 20,000 20,000
01 XIS ExS 20,000 20,000
OFaget Otds= 7 & X=8l N
20,000,000 20,000
HESZ =22 76,200 76,200 0
201 Ler2aY| 1,200 1,200
2 s==3tl 1,200 1,200
OHEISZ |2l 3323
1,200,000 1,200
401 AlZHIL 2 CHY] 75,000 75,000
01 AlZHI 75,000 75,000
OHUEISZ &3M 75,000,000 75,000
OrdSSUIcHO Y A 186,000 9,000 90,000
= 124,000
Al 62,000
403 NXIHHM S =20l1& 186,000 9,000 90,000
= 124,000
Al 62,000
01 XEXISHMA 222 186,000 9,000 90,000
OOrd== DloltilZAl2 218 XA
186,000,000& 186,000
= 124,000
Al 62,000
e uetd= EIXIAI 153,000 129,000 24,000
= 102,000
Al 51,000
308 XXM SOl 153,000 129,000 24,000
= 102,000
Al 51,000
01 MRS BdExXS 153,000 129,000 24,000
OdEA Letd= X X2
153,000,000& 153,000
= 102,000
Al 51,000
MEHAABIA XISH A2 X2 60,000 45,000 15,000
= 40,000
Al 20,000
403 NXISHHM S =201& 60,000 45,000 15,000
= 40,000
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Sk SR B NP S
= SHZEOrM 1t
3 ANogtd elxet #15 (Gt H2)
/3| - RA - B C9I(S) - MSAL - BAS e HIREZ
Al 20,000
01 A= 2L 60,000 45,000 15,000
OME AIMEIA XIZSH HISF X
60,000,000 60,000
= 40,000
Al 20,000
AH 2 ZHI 31,180 30,331 849
Jl=ZHI (et t) 31,180 30,331 849
SN2 31,180 30,331 849
201 er=2 3| 18,810 16,049 2,761
01 AtR2te|HI 18,810 16,049 2,761
ORAMEg+SHl 12,510,000& 12,510
O=gHtl 6,300,000 6,300
202 04l 8,770 7,482 1,288
01 SLHoIH 8,770 7,482 1,288
OstZ3=2d J|=2g: +&0tl
8,770,000& 8,770
203 HF=AH] 3,600 4,800 1,200
MU A2 LIFLI 3,600 4,800 1,200
ORAMEZE =4 3,600,000& 3,600
HRas(sZedE) 1,334 0 1,334
SBHXE 1,334 0 1,334
grets JIEt 1,334 0 1,334
802 grat=JIE 1,334 0 1,334
01 2N2LSeE= 1,334 0 1,334
020188 £:Cl0IE MelXIg Alg &
1,333,500 1,34




Ol &F A

Al A

2024\ Olat 2Btal A AHBRA 3
P AHBHAZ 2
M GO
g H: poEEne EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
CHoI= & 0t 39,592,061 54,830,540 A15,288,479
= 18,755,408
fas 642,000
Al 20,194,653
tol=tEHe 39,493,501 54,780,801 15,287,300
= 18,755,408
= 642,000
Al 20,096,093
oI oHe 494,400 289,400 205,000
NIBAE eI ZAAl =S Z 2l =8 89 178,000 0 178,000
207 H5oHeHl 178,000 0 178,000
01 H1E4H] 178,000 0 178,000
ONIBAF QUEHESAl =2 2l Al
HE =8 E4 178,000,000& 178,000
= OIS H - 2e|HE K& 230,000 230,000
307 2ItolH 230,000 230,000
02 QIZHBAMAHEE 230,000 230,000
O==2& OIMZX A7 - 2e|ulE 2 X
(FHEFRIH) 230,000,000& 230,000
OINIBIX Sl2atieds 29 2,400 2,400 0
201 er2 3| 2,400 2,400
01 At2t2lt] 2,400 2,400
OOIMZHAI SI2HHRABS HA =& S
2,400,000 2,400
ZE o= € 18 A = 30,000 25,000 5,000
308 XXM SOIA 30,000 25,000 5,000
13 SI[2SOHE & EAS A 30,000 25,000 5,000
OXE ot=2 & J1g &AL JHAl
30,000,000& 30,000
HILAXIZ S ASAIAE AL 54,000 32,000 22,000
402 RIREXH=201 A 10,000 10,000 0
01 QI X2 AL E X (KHMITHE) 10,000 10,000 0
OllUXNI e 2=Xte 2 EXIXI&
10,000,000& 10,000
403 AXIEHMSAH=0lE 44,000 22,000 22,000
02 SI12SoItHe A= E AEAS I 44,000 22,000 22,000
ONUXNIEE SxSdSAAY MALX
44.,000,000& 44,000
1 sZAIE e 8,010,600 19,453,280 A11,442,680
= 4,905,500
Al 3,105,100
IHEE M=sABLY X X 672,000 2,006,880 A 1,334,880
= 504,000
Al 168,000
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L NP RIRIRS
A ODISE D
B ODIEZINA

AR - SN - BB - GBI - HRAY - BAS of v e HImS2
403 X SHHMSAH=01H 672,000 2,006,880 1,334,880
= 504,000
Al 168,000
01 XXM =225 672,000 2,006,880 1,334,880
OINEE HsARYR PIAL
672,000,000& 672,000
= 504,000
Al 168,000
==NASSFEID| €1 - 2E 22 XS 102,000 105,000 A3,000
= 68,000
Al 34,000
402 QI2F X201 & 102,000 105,000 A3,000
= 68,000
Al 34,000
02 PIHH2 AN 2 X (OIH TR 102,000 105,000 A3,000
O2ENSSHI| £ - 2gBlyl X
102,000,000 102,000
= 68,000
Al 34,000
SaJ|Y SIS ?Igt OIXHAIA 30,600 21,600 9,000
201 2= 1,600 1,600 0
01 AtR2t2lt] 1,600 1,600 0
OsAJg &M U= OIHKE 2X2
EUNIESS IS 1,600,000& 1,600
402 QI2F X201 & 29,000 20,000 9,000
01 QI X2 AL E A (KEHITH) 29,000 20,000 9,000
OsJ1eY #dd X= Ol A&
29,000,000& 29,000
A2 SNALE SRAE RH(2E) 3,956,400 10,800,000 6,843,600
= 2,198,000
Al 1,758,400
402 212+ X201 & 3,956,400 10,800,000 6,843,600
= 2,198,000
Al 1,758,400
02 QIZEXHE AL E (01X THE) 3,956,400 10,800,000 26,843,600
OARZ AEE SXAE XA(HE)
3,956,400,000& 3,956,400
= 2,198,000
Al 1,758,400
A2 SHAILE SRAE R(XE) 1,975,400 5,902,400 A3,927,000
= 1,411,000
Al 564,400
403 AXIEHHSAH=201H 1,975,400 5,902,400 A3,927,000
= 1,411,000
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A2 MHAHARAZ
2 A U1
g H: poEEne (SH9 H2)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl %Eg‘% Hns2
Al 564,400
01 IR SRR 22X 1,975,400 5,902,400 A3,927,000
OLAZ AFHE SXIAE AXIXA(KIH)
1,975,400,0002! 1,975,400
= 1,411,000
Al 564,400
ATD GNAIAE YURAlE 24X 224 X 220,000 210,000 10,000
307 QI2+0|& 220,000 0 220,000
02 QIHHAMAIHE X 220,000 0 220,000
OL72 SAHAAT LXAE £X 2|
pNEE] 220,000,000 220,000
IIASEI(GP) )| HZXRA(HY) 179,550 113,400 66,150
= 99,750
Al 79,800
402 BIZIXH=0|E 179,550 113,400 66,150
= 99,750
Al 79,800
02 QI X2 AU E R (OIFTHS) 179,550 113,400 66,150
OJNASEI(GP) Y| HEXI(EE)
179,550,000 179,550
= 99,750
Al 79,800
IIASEI(GP) HHD| HZXIRA(XIE) 874,650 294,000 580,650
= 624,750
Al 249,900
403 RIXI SIS0 ™ 874,650 294,000 580,650
= 624,750
Al 249,900
01 XIXISHHIXH=2E X 874,650 294,000 580,650
OINAGHI(GHP) HHED| INEXIR (KI)
874,650,000 874,650
= 624,750
Al 249,900
HIZHe ol 5,569,410 5,182,460 386,950
= 1,370,000
= 642,000
Al 3,557,410
C2THIAHI H2ZHAF (RHA) 20,000 42,000 ~22,000
401 AlEHI L] 20,000 42,000 A22,000
01 Al&HI 20,000 42,000 A22,000
OHA DIMEX EFEH XA
20,000,000 20,000
CERTHIAHT] K2PAL 1,865,000 1,635,000 230,000
= 1,370,000
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P AHBHAZ 2
= o= X ot
g to1erE e (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
Al 495,000
403 AXIEHMSA=01d 1,865,000 1,635,000 230,000
= 1,370,000
Al 495,000
01 AXEHA2E xR 1,865,000 1,635,000 230,000
O&2 HIIMHIE SHES
1,785,000,000& 1,785,000
= 1,370,000
Al 415,000
Okz 288X AL £X
80,000,000& 80,000
OIMEX HS2tel7 XA (RIY) 135,000 135,000 0
403 XIS EXH=01H 135,000 135,000
01 AXEH2E xR 135,000 135,000
OblNeX 5274 XI&
135,000,000 135,000
OIMEX SHHHE ol - Z2A(HE) 166,000 226,000 260,000
s 83,000
Al 83,000
101 QI24H| 145,900 179,600 A33,700
s 72,950
Al 72,950
M IRIMZZ2NSE S 145,900 179,600 A33,700
OZAIE 21AH| 145,900,000 145,900
= 72,950
Al 72,950
201 Ler2 | 20,100 46,400 126,300
= 10,050
Al 10,050
01 At2tltl 16,900 41,000 124,100
OZAIE Xhgk Xl 14,400,000& 14,400
s 7,200
Al 7,200
OAlY 2te AIRE3 7
2,500,000 2,500
= 1,250
Al 1,250
2 35244l 3,200 5,400 22,200
OZAIA Tt FA2eld 2,400,000 2,400
= 1,200
Al 1,200
OZAIE sUHE S4ll 800,000& 800
= 400
Al 400




P AHBHAZ 2
M GO
g H: poEEne (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
OIMIBIX SIS ol - ZAI(KIY) 794,500 830,500 186,000
= 559,000
Al 235,500
308 AHXIEMSOIE 794,500 880,500 86,000
s 559,000
Al 235,500
01 AXHHNBHEES 794,500 830,500 286,000
OOIMZA == ol - ZAl X
794,500,000& 794,500
fas 559,000
Al 235,500
HIAHAX 2 ALY 200,000 200,000
206 =8I 200,000 200,000
01 THZ2HI 200,000 200,000
OLITHAl 2l HA 22 200,000,000& 200,000
CE2HA NZA 2,276,000 1,950,000 326,000
401 AlEHIYL 2 THYI 2,276,000 1,950,000 326,000
01 Al&HI 2,276,000 1,950,000 326,000
OEZHR MHAH 1,600,000,000& 1,600,000
O s Z28 X MAHA
368,000,000 368,000
Ot S -Z2E MY
308,000,000 308,000
DIMIZA E2 & LdEAMHIA 2t 108,050 107,600 450
201 er23| 108,050 107,600 450
01 AtR2t2l] 20,000 20,000 0
ODINIBXl B2 22 HE S
20,000,000& 20,000
2 S22l 88,050 87,600 450
OEZ2FA F=AlIE FX2c]
18,000,000& 18,000
OZ2EHA HBAIAE X242/
24,000,000 24,000
OE2EA HEAAY S|
16,000,000& 16,000
OtlI2g S& FEAAH |22l
5,050,000& 5,050
o2y S& dE2AAH S4lbl
25,000,000 25,000
HIAHH X AP E 2tel 4,860 6,360 21,500
201 fet=3| 2,000 3,500 21,500
01 At22t2l] 2,000 2,000 0
ODIMIX 28 30288 e S
2,000,000 2,000
202 04t 2,160 2,160 0
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P AHBHAZ 2
M GO
g H: poEEne (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
01 =LHoi 2,160 2,160 0
ODINIEX 2 SZE0 2,160,000 2,160
301 LEENEZ 700 700 0
14 JIE2 43 700 0 700
OAEE 83 % 212 S A 224
700,000& 700
TSRt BHEIA M2 25,313,069 28,345,039 13,031,970
= 12,479,908
Al 12,833, 161
SHIRX BHEtA MM (2X) 23,458,820 25,710,400 n2,251,580
= 11,892,810
Al 11,566,010
402 QIZEXH201H 23,458,820 25,710,400 n2,251,580
= 11,892,810
Al 11,566,010
02 RIEN 2 A EZ(0IMTHR) 23,458,820 25,710,400 ~2,251,580
OSBRI HEIIA MB A
23,458,820,000& 23,458,820
= 11,892,810
Al 11,566,010
SHIRX BHEtA HZAH (KHA) 634,723 644, 181 19,458
201 el 510,242 514,181 23,939
01 At2telt] 35,600 35,600 0
OMZAIY 8228 ¥ ARE 2 S
25,000,000 25,000
O2dMe AL S22 29 oY
aoede FA=E 600,000& 600
O2#HIEH HSHAAY ARE L S/W 7L
10,000,000& 10,000
2 352484l 474,642 478,581 13,939
ORARI HHEIA HIAY REUER
202,000,000 202,000
O2#HsH HSAAY 2RI
208,646,000& 208,646
OSEHMSEH AL M) & Shl=E
63,996,000& 63,99%
307 2Ito1d 124,481 130,000 25,519
05 21t S 124,481 130,000 ~5,519
OZXJIHXH &L IHH| 124,481,000 124,481
HEl0l SEXE2| LPGIH &8 X ArY 205,000 910,000 705,000
= 102,500
Al 102,500
402 RIZEAHZ01H 205,000 910,000 705,000
= 102,500
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P MABHPIAZ
£ M to2dn
g = edie (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
Al 102,500
02 QI XHE AL E R (01X THE) 205,000 910,000 705,000
OO &0l S=txte LPGRH M atXI&
205,000,000& 205,000
= 102,500
Al 102,500
BEI12t JUEX EsKX 2 969, 196 983,358 A14,162
= 484,598
Al 484,598
402 RI2HXH201H 969, 196 983,358 A14,162
= 484,598
Al 484,598
03 QI+ EF ALY 969, 1% 983,358 A14,162
OE3J12t ZUEI 453K 2
969, 196,000& 969, 1%
= 484,598
Al 484,598
S BIEIA BAF E HZ ARG A= 2] 45,330 97,100 AB51,770
201 Zet2d] 22,580 22,350 230
01 AlR2telHl 4,800 4,800 0
OgEE His & o 2 222 7289 S
600,000 600
OXSAt tHEIHA S S A & o652
=5 7Y 4,200,000 4,200
2 33234l 17,780 17,550 230
Ol H et e 13,980
Sl 2,400,000 2,400
o XS XA 460,000 460
cEAMERES 120,000 120
o Xt =X 11,000,000& 11,000
Ol =Z | 3,800
oZF IR 3,000,000 3,000
o=HEH FZTAN X BEs2R
800,000 800
202 Ot 4,600 4,600
01 2LHA Y] 4,600 4,600
OXtSIH BHEtA 2t HR(BEOrA 3
s) 4,600,000& 4,600
301 LetENZ 150 150
B2 ds 150 150
OXNSAt IHAMD Ha= 150, 000 150
405 KHoHF S| 18,000 70,000 52,000
01 MM =S F SHI 18,000 70,000 52,000




P AHBHAZ 2
M GO
g H: poEEne (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
OZE A IWHEED! <204
18,000,000& 18,000
St EH A 106,022 1,510,622 1,404,600
AFIEALY 22|25 13,122 13,122 0
201 fet=2 3| 8,132 8,132 0
01 AtR2t2l] 5,000 5,000 0
oF M2 2E 82 2 ARE 1Y S
5,000,000& 5,000
2 S5=2g4l 3,132 3,132 0
OASNSHHEX [/l
132,000& 132
O%# o2 & s X RA2ell
3,000,000& 3,000
202 04l 1,620 1,620
01 =LH0i 1,620 1,620
AHUHEYEA S = ¥ B 0l
1,620,000 1,620
206 =4I 2,500 2,500
01 THZHI 2,500 2,500
o F Y 2 ARE 7
2,500,000 2,500
301 LEEES 870 870 0
14 JIEt2 4= 870 0 870
Oolzt g8t 9 3|9 S A} AU
870,000& 870
oHF HE ALY 81,500 97,500 16,000
201 Ler23 | 4,000 4,000 0
01 At2t2lt] 4,000 4,000 0
OSAFHAIH & FHAAE IS 2 BH
=g S 4,000,000& 4,000
403 MR HHMSAHE01H 77,500 93,500 16,000
01 MHXIHH A =222 77,500 93,500 16,000
OAFHNSHAEX SHHLX 23
52,500,000& 52,500
OUEAH MBAMY X Ex= KE
25,000,000& 25,000
A0E 29 DIMEX - 25 SS2MAE 2= 11,400 1,400,000 1,388,600
201 er23| 11,400 0 11,400
2 35234l 11,400 0 11,400
OWJIser2NE FX2eldl
11,400,000 11,400
AHHEX] EF2te] 49,520 49,520 0
T2 JHRer Ate QlEe = 49,520 49,520 0
e oy X 49,520 49,520 0
201 er23| 27,720 27,720 0
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P MABHPIAZ
£ M tolEdn
8 X dydE2g3| EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
A= ZH| 49,040 50,219 AT1,179
JI=2ZHI(HI12& 1) 49,040 50,219 AT1179
2A2EH| 49,040 50,219 AT1179
201 ZBt=3hl 32,390 33,264 N874
01 AlR2telHl 32,390 33,264 NB74
OFA2g+Ed 18,950, 000& 18,950
O=gl 13,440,000 13,440
202 04l 11,490 11,79% A305
01 A 11,490 11,795 ~305
OJl2g R0l 11,490,000 11,490
203 HR=4Y] 5,160 5,160
M A=A 5,160 5,160
OFRANEgg =AY 5,160,000 5,160
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H & 0l & AHS B Ml A

Asl: MHAHFRS
N: +ZoHd Dt
o XHobsst 22 AN P (cre): xg)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
Hoha 1t 74,300,841 50,640,067 14,660,774
2 3,351,627
2 12,245,000
Al 44,478,214
l 14,226,000
NEokse 2@l F2HH 2= 116,500 106,500 10,000
S8 222 W 25 116,500 106,500 10,000
Sw2| OIASE A 116,500 106,500 10,000
201 2er2y] 116,500 106,500 10,000
01 AR 22l 6.500 6.500 0
0201822 2923 2% S
2,000,002 2,000
Oss2zel =3 +84) 4,500,002 4,500
03 AR 110,000 100,000 10,000
O2&# MUY ¢ HEZ20Y 29
70,000, 00024 70,000
ONI 29| & 3A 40,000,002 40,000
ok = 3,218,577 25,923,303 10,296, 184
2 1,080,000
2 70,000
Al 20,832,577
i 14,226,000
MWRotD e 2 22 3,218,577 25,923,393 10,296, 184
2 1,090,000
2 70,000
Al 20,832,577
] 14,226,000
S2AH LHAST NS (RE-ZT) (HEML) 5,845,000 4,200,000 1,645,000
Al 1,319,000
] 4,526,000
401 A8 L 2 CH| 5,845,000 4,200,000 1,645,000
Al 1,319,000
l 4,526,000
o1 Alt 4,526,000 4,000,000 526,000
OS2F MBI N (HE-2F)(H
B Ae) 4,526,000, 00024 4,526,000
ol 4,526,000
o2 2t 1,314,000 200,000 1,114,000
OS2AF MBI N (HE-2F)(H
AR 1,314,000, 00024 1,314,000
03 Al& =2 CH| 5,000 0 5,000
OS2R AT N (HE-2F)(H
AR 5,000,002 5,000
DA SHAST A (RE-ZIE) (HEME) 11,080,000 3,700,000 7,330,000




P MABHPAZ
£ M =Zotd
8 = old EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 1,330,000
M 9,700,000
401 AIEHIYL 20| 11,030,000 3,700,000 7,330,000
Al 1,330,000
H 9,700,000
01 Al&ZHI 9,700,000 3,500,000 6,200,000
OLdrE ol ASK HEAIY (M=) (E
EhAL) 9,700,000,000& 9,700,000
M 9,700,000
02 Zell 1,322,000 200,000 1,122,000
OLetE ol ASK HEAIY (M=) (H
EhAL) 1,322,000,000& 1,322,000
03 AIZ =2 CHHI 8,000 0 8,000
OnetE ol &SIl HEAIS (HE-2E)(H
EAL) 8,000,000& 8,000
SZd MEHCHE SYAIS(HE-XI)(HEAY) 6,457,000 5,040,000 1,417,000
403 MXISHHSEXZ01N 6,457,000 5,040,000 1,417,000
01 RIXIEHRIA 2 2 2 6,457,000 5,040,000 1,417,000
O=2EH MENoHe SYAAMNG(HE-XI3) (&
Atd) 6,457,000,000& 6,457,000
S NGXES SEoITAY 1,000,000 1,000,000
401 AIEHIL 20t 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OsJ1d NSSEe SOt J12 &
SAIEH 1,000,000,000& 1,000,000
NRLES2(RE2) =SAES Yl 1,025,000 0 1,025,000
403 MXISHHSI=01H 1,025,000 1,025,000
01 XIXISHX=EE 1,025,000 1,025,000
ONRLESZ2(RER2) “SAESE B
1,025,000,000& 1,025,000
=28 =32t T4 BHEEEY 190,000 0 190,000
401 AIEHIL 20| 190,000 190,000
01 Al&HI 190,000 190,000
OetgddE4 190,000,000& 190,000
IR A2 940,000 1,294,000 A354,000
= 940,000
403 MXISHHS 201N 940,000 1,284,000 354,000
= 940,000
01 XIXISHX=2EE 940,000 1,284,000 354,000
O=Itold 72+ 940,000,000 940,000
= 940,000
St = Al 2eIAt 1,656,577 1,204,713 361,864
201 etz ] 5,000 5,000 0
01 AlR2teldl 5,000 5,000 0




P MABHPAZ
£ M =Zotd
8 = old EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
O3 B4 S 5,000,000 5,000
202 04t 4,400 4,400
01 A 4,400 4,400
Oste el =0 4,400,000 4,400
203 AR=TH| 2,400 2,400
03 AIB=ZH 22| 2,400 2,400
O=2cl A=A 2,400,000& 2,400
308 XXM SOIA 1,535,296 1,149,957 385,339
18 SO 2SS & AE A 1,635,296 1,149,957 385,339
OUEGHE FAB+=3SAE FA22I(SI
o, 3EH, 4=d, =2XH)
1,535,296,0008 1,535,296
403 MR HHMSAHE01H 109,481 132,956 N23,475
02 B2 S0t 2 S A A 109,481 132,956 N23,475
OMEISHE RAEFSSAE KAAC(ZE
&) 109,481,000& 109,481
StEACIIIFAIE AHEX 9,000 90,000 0
307 2I2+01H 9,000 90,000
02 QI B A E A 50,000 50,000
OotdaeD|=aE MHEX
50,000,000& 50,000
03 UL HEI2SHIEx 40,000 40,000 0
OsteaeD| = 22X
40,000,000 40,000
SHEEAEZ A+1R3 15,000 15,000 0
308 ARISHMSOIH 15,000 15,000
2 =123 15,000 15,000
OctdEAER 1R S
15,000,000& 15,000
INEE el eSES PN X 6,800,000 5,200,000 1,600,000
308 XXM SOIA 2,200,000 2,000,000 200,000
01 MM BSEXS 2,200,000 2,000,000 200,000
OXlgot& 7 Al2tel 2,200,000,000& 2,200,000
403 MR HHMSAHE01H 4,600,000 3,200,000 1,400,000
01 RIXIEHHIXt=E A 4,600,000 3,200,000 1,400,000
OXlgotd s A2tel 4,600,000,000& 4,600,000
243 THOHRIE XIS FHIAY 70,000 0 70,000
fas 70,000
403 MR HHMSAH=01H 70,000 0 70,000
= 70,000
01 XIXISHX=2EX 70,000 0 70,000
O244& THoll IS XS EHIAKY
70,000,000 70,000
= 70,000




P MABHPAZ
£ M =Zotd
8 = old EER=E)
A3 - 2 - B - SA(BH) - MM - BES Off &bod %E%E" HwsZ
Had S 8 stEII=H & (EE) 800,000 800,000
401 AIEHIZL 20| 800,000 800,000
01 Al&€HI 800,000 800,000
OHYE S 8K otEIIZHE(HA)
800,000,000 800,000
2249 F2e FHATE NSUSHAIE XA 300,000 0 300,000
= 150,000
Al 150,000
403 MXISHHSX=01H 300,000 0 300,000
= 150,000
Al 150,000
01 RXIEHRIA 2 2 2 300,000 0 300,000
O24d 2 FHATZ NSIHAIE ZX
At 300,000,000& 300,000
= 150,000
Al 150,000
AL &5 2,725,900 2,727,770 A1,870
BAIIZANE &5 2,725,900 2,721,770 A1,870
oLl OISt SSAEd &4 3,400 6,270 N2,870
201 et ] 1,000 1,000 0
2 s3=234l 1,000 1,000 0
Oet=3taags Halt| 1,000,000 1,000
203 R =2IY| 2,400 2,400
03 A=A H =AY 2,400 2,400
OBIIZAIE 2 g2FH
2,400,000 2,400
SSHEA FA2Ae| & A= 1,422,500 1,521,500 99,000
308 ARISHMSOIE 572,500 711,500 139,000
01 AXENBSEES 572,500 711,500 139,000
O=saad !Xzl 572,500,000& 572,500
403 MXISHHSEXZ01N 850,000 810,000 40,000
01 RIXIEHRIA 2 2 2 850,000 810,000 40,000
Ossaad &l - = 850,000,000 850,000
IEERelAY 1,300,000 1,200,000 100,000
308 ARISM SOOI 1,300,000 1,200,000 100,000
01 XN BSEES 1,300,000 1,200,000 100,000
O3s IIE2s sSH2AE 288 K&
1,300,000,000& 1,300,000
=EEH J|x olZet A= 4,434,800 1,802,229 2,632,571
= 2,261,627
Al 2,173,173
ot8otl 2 = 2AcIHA 2E 354,247 353,400 847
H=s a4l Hs 4,247 3,400 847




PR MAIHPARE
£ M ot
g3 M HZEF J|x Qo = (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
202 0| 3,247 2,400 847
01 2oL 3,247 2,400 847
OHeEs 28 g2 -8
3,247,000 3,247
206 MHZHI 1,000 1,000
01 =4l 1,000 1,000
ORS S H=dE +2AM |t
1,000,000 1,000
=xE=2 89 2 888 018 50,000 50,000
308 ARISHMSOIE 50,000 50,000
01 IXHMBdE2x= 50,000 50,000
O&+4Hl 22 50,000,000 50,000
FEAE =2 300,000 300,000 0
308 AXIHMSOIH 300,000 300,000
01 MXHMBEEx= 300,000 300,000
O3z 22T AIE |A 2L
300,000,000 300,000
LN 2ALIXA = 4,080,553 1,448,829 2,631,724
= 2,261,627
Al 1,818,926
FHQHA e 24,240 316,900 A292,660
201 £er2aY| 15,100 225,100 210,000
01 Ak 2teltl 9,500 9,500 0
OxZ2Zd 22 NE+Y S
8,300,000 8,300
o=l 1,200,000 1,200
R =23l 5,600 215,600 210,000
O=ZZAIXNE 72/l
5,600,000 5,600
202 0| 3,240 2,400 840
01 2oL 3,240 2,400 840
O+22E g2 24d FF0YI
3,240,000 3,240
203 =Y 1,500 1,500
03 A=A H =AY 1,500 1,500
Ox=Z=2H AIHFA 1,500,000 1,500
206 MHZHI 4,400 4,400
01 MZHl 4,400 4,400
Ot 428 S 7€
4,400,000 4,400
usrH SEZAMA A= 25,147 23,898 1,249
201 Ler2aY| 19,076 18,450 626
2 s==3tl 19,076 18,450 626
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PR MAIHPARE
£ M ot
g3 M HZEF J|x Qo = (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
O0lsE =ZTAANLE 3323
1,500,000 1,500
OO0l =ZZAANAYE X122l
17,576,000& 17,576
206 MHZH 6,071 5,448 623
01 MZHl 6,071 5,448 623
O0ISE +=ZHZANAAY A2F 7
6,071,000 6,071
LHET ASMHFAIE XA 1,680,000 0 1,680,000
= 1,176,000
Al 504,000
401 AlZHIL 2 CHY] 1,680,000 0 1,680,000
= 1,176,000
Al 504,000
01 A2 1,680,000 0 1,680,000
AU BT 2STFAIE XA
1,680,000,000& 1,680,000
= 1,176,000
Al 504,000
FENSEIINI| 11 - 28 223 KA 497,202 508,031 A10,829
= 377,627
Al 119,575
308 AXIHMSOIH 346,219 88,031 258,188
= 276,972
Al 69,247
01 XIS EXS 346,219 88,031 258,188
O=8XNS=ZID| 284 N2 (E5+F, A7)
346,219,000& 346,219
= 276,972
Al 69,247
402 212EXH=201H 150,983 120,000 30,983
= 100,655
Al 50,328
02 QIZR2Z AL R (OIXTH ) 150,983 120,000 30,983
O=EXNS=8I17| €XIdl X2 (XtH)
120,000,000& 120,000
= 80,000
Al 40,000
O=ZXNSEZID| 228l XA (XHA)
30,983,000 30,983
= 20,655
Al 10,328
HST HIEINZAY 1,416,000 600,000 816,000
= 708,000
Al 708,000




PR MAIHPARE
£ M ot
g3 M HZEF J|x Qo = (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
401 AlZHIL 2] 1,416,000 600,000 816,000
= 708,000
Al 708,000
01 Al 1,416,000 600,000 816,000
OAST HIEQENTAIE XA
1,416,000,000& 1,416,000
= 708,000
Al 708,000
S3H+H2AE 22 437,964 0 437,964
201 £er2aY| 300,000 0 300,000
2 =23l 300,000 0 300,000
OsSH=X2lAg =ZWS 7Al2e
300,000,000 300,000
307 2IZtol& 137,964 0 137,964
05 QIZtRIE 3 137,964 0 137,964
O33H=HMclAlg 28] X
137,964,0002 137,964
AY2IFHI(+=Zot ) 33,350 32,470 880
Jl=3HI(=Z5t) 33,350 32,470 880
SA2EH| 33,350 32,470 880
201 Ler2aY| 18,450 17,574 876
01 At2teltl 18,450 17,574 876
Ogit=&4| 9,298,000 9,298
O=etl 9,152,000 9,182
202 04t 10,700 10,696 4
01 20 10,700 10,696
OJl=zg=4 ol 10,700,000 10,700
208 BF =2l 4,200 4,200
04 AL 4,200 4,200
OFAEIERFA| 4,200,000 4,200
Megs(+2otE ) 30,771,714 29,047,705 1,724,009
[ 12,175,000
Al 18,596,714
WEHAHRIE 30,771,714 29,047,705 1,724,009
= 12,175,000
Al 18,596,714
SRS A3 A 14,116,000 11,889,000 2,227,000
z 12,175,000
Al 1,941,000
701 JIE=I NS HES 14,116,000 11,889,000 2,227,000
z 12,175,000
Al 1,941,000
03 SIIBSEIAN=2HES 14,116,000 11,889,000 2,227,000
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A3 MHBMAZZ
2 A SEGHED
y M jREs(sZotdw) (SH &)
S - M - FHH - SA(3H) - HIRAE - BEZ Off &bed %E% HunsZ
O AR AL LA
14, 116,000,000& 14,116,000
s 12,175,000
Al 1,941,000
A2 =EAIE HEAI(HE-XIH) 1,077,000 1,237,000 A 160,000
701 JIEt2l HISEES 1,077,000 1,237,000 160,000
03 BIILELEIIAHN2HES 1,077,000 1,237,000 A160,000
OLRIDETAIE A (M E-RIR) (&8
Ared) 1,077,000,000& 1,077,000
MBS DEFHSXCIAE AL SA 7,262,500 7,262,500 0
701 JIEtS HSHES 7,262,500 7,262,500
03 SIIHEEIAN=2EES 7,262,500 7,262,500
Ott8d NEFH=XelAld AL SAt
7,262,500,000& 7,262,500
JIEFSIHEES (A AR TAIE SA=E) 2,962,000 3,100,000 138,000
701 JIEt2l HISEES 2,962,000 3,100,000 A 138,000
02 SIILSEIIAHBNEES 2,962,000 3,100,000 A138,000
OLARSTAIE S22
2,962,000,000& 2,962,000
== 2z &2 5,354,214 5,559,205 A204,991
705 tl=3RcI3&tE 5,354,214 5,559,205 A204,991
01 tl==33ae 4,823,167 4,919,667 296,500
OEAMXS A3 OHLALY
4,791,000,000& 4,791,000
OLAZ=TAIE JHEAS
32,166,740 32,167
02 Oll==20| Ktatet 89,875 197,155 A 107,280
OEMXS Al LAY
89,634,880 89,635
OB A AL 239,930& 240
083 Al - EXHED I S0-=R o 390,000 390,000 0
Odsg8d slatskl HAAY
390,000,000& 390,000
04 Al - SXISHLD IS0~ 01 KHAHE 51,172 52,383 AT1,21
Oas2d sollafsKl HEALY
51,171,500& 51,172




H & 0l & AHS B Ml A

crol A )
SA - ZE . BRA(EH) - HRAE - BAR of v O HImS2
17,131,009 14,423,259 2,707,750
HMelolgt &E 15,806,639 12,697,225 3,109,414
=XclAE &E 15,806,639 12,697,225 3,109,414
oMol = BFEs X2 87,600 87,600 0
201 fer= 3| 87,600 87,600 0
01 At 2|l 87,600 87,600 0
OB EEEHRIAL 2EH2lE W40
e 87,600,000 87,600
E:SEXCIAE AE 234 Xs 16,719,039 12,559,625 3,159,414
8 KtXIEHHISO0I ™ 14,347,970 11,716,347 2,631,623
3 SIS0t oA AS A 14,347,970 11,716,347 2,631,623
OIEELSEHAE BYR 2|
14,347,970,000& 14,347,970
403 MR EHSAHE01H 1,371,069 843,278 527,791
2 SISO St 2 A AAE A I 1,371,069 843,278 527,791
OIE2 LSS HIAL TEHeIs2y|
1,371,069,000& 1,371,069
M= 773,370 1,726,034 A952,664
= d3=4 773,370 1,726,034 A952,664
AJIA BHEZ Ml Al 773,370 1,726,034 N\952,664
1 2e=3hl 773,370 1,726,034 A\952,664
2 SESE23HI 773,370 1,726,034 A952,664
O24JtA BiEA A 23
773,370,000 773,370
LeS(ot=1) 551,000 0 551,000
WA XIE 551,000 0 551,000
stE=s 551,000 0 551,000
(VAP TSE= 551,000 0 551,000
01 JIsdES 551,000 0 551,000
OzkXMelAEF8XAXNEI s 8ES
551,000,000 551,000
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H & 0l & AHS B Ml A

ol MAIHPIRE
SHE =0t
o DSy HAFHANA (SH9 H2)
5| - RA - BB - C(3]) - MSAY - A2 Ofl by e HmEST
Sk iniy 19,958,028 21,299,838 1,341,810
= 66,045
[ 7,629,179
Al 12,262,804
S FHE XA 18,828,130 20,340,787 1,512,657
2 7,629,179
Al 11,198,951
clelEal 29 2l 20,000 20,000 0
axelfde 28 2l 20,000 20,000 0
201 LetE gy 20,000 20,000 0
01 At 2teltl 20,000 20,000 0
Ogxel#ids s a2 &4+
20,000,000 20,000
adofs =4 13,262,200 15,033,357 A1,771,157
z 7,106,179
Al 6,156,021
ANEZ2Y N 19,950 19,950 0
201 Ler2aY| 18,000 18,000
01 At2teltl 18,000 18,000
OdReIFE 2UM(SAIM S)IHE
10,000,000& 10,000
OgielFdE 240/1Y ISHE S MA
7,000,000 7,000
OgNeIFE 2712 SR S84
1,000,000 1,000
202 0| 1,950 1,950
01 2oL 1,950 1,950
Ogiields 228 29 & #HxIoHr
1,950,000 1,950
MN2SHES XA (He-2E)(HAY) 382,892 382,892 0
307 2Iztol& 382,892 382,892
02 QB MAIH S X 382,892 382,892
Ous4d MalSE 25 X2 (01Y 2-12HH)
382,892,000& 382,892
sS4 ZHEE NAAHIA LRI (HE) 222,358 713,078 A490,720
z 106,179
Al 116,179
101 2124H 212,358 563,078 £350,720
= 106,179
Al 106,179
M I =2Z2 RS2+ 212,358 563,078 A350,720
OtlsE Z=E LRl A (Ql2i])
212,358,000 212,358
Fas 106,179
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0

0 4 H0

(crel &)
- B8 SRI(E) - HRAY - BaS of v O HImS2
87,600 87,600
87,600 87,600
87,600 87,600
%
87,600,000& 87,600
337,450 450,500 113,050
= 277,900
Al 59,550
IAIHHSOIM 337,450 450,500 A113,050
= 277,900
Al 59,550
337,450 450,500 113,050
A il—/\‘iil.I'-o‘:I
337,450,000 337,450
= 277,900
Al 59,550
! 66,000 60,000 6,000
66,000 60,000 6,000
66,000 60,000 6,000
g AEEY K&
66,000,000 66,000
At 270,186 0 270,186
76,643 76,643
76,643 76,643
& AH(EE)
76,643,000& 76,643
193,543 193,543
193,543 193,543
NENTEED
193,543,000 193,543
A=Y |4 36,000 36,000
308 AFAIEHMSOIE 36,000 36,000
01 AXH B2 LS 36,000 36,000
OEAsSXAHE XS 36,000,000& 36,000
S B4 AMY XIR(ZEH) 25,000 25,000 0
gItol 25,000 25,000
! 25,000 25,000
X
25,000,000& 25,000
(X&) 13,428 13,428 0
13,428 13,428
13,428 13,428
6,400,000 6,400
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PR MAIHPAR
2 N SN
¥ o =2XsE 7 (el @e)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
Og=0t A= sSisXd
7,028,000 7,028
CASE 24 142,275 210,000 ANB7,725
308 AXIHSOIA 142,275 210,000 ANB7,725
01 XN B EES 142,275 210,000 AN67,725
CARExRYE XA 142,275,000 142,275
oMY SSH TAIRE =d 150,000 150,000 0
307 212+01& 150,000 150,000
02 QB A E A 150,000 150,000
Ooldd SSH TAIRE ZEAMY
150,000,000 150,000
HESUSTMAY =4 28X =23 40,000 40,000 0
201 LBzl 20,000 20,000
01 Al2telsl 20,000 20,000
O=s4dsg T208 29
20,000,000 20,000
206 M=l 20,000 20,000
01 =4I 20,000 20,000
O=aHe HE i 20,000,000 20,000
st A5 2H 40,783,096 32,238,565 8,544,531
) 33,102,553
Al 7,680,543
I=2d SMES 32,740,000 31,182,000 1,568,000
Jl 32,740,000
308 XXM SOIH 32,740,000 31,182,000 1,558,000
) 32,740,000
01 XN BSELS 32,740,000 31,182,000 1,568,000
oJl2g s9d=s 32,740,000,000& 32,740,000
Il 32,740,000
SR =S HHZH XF(HY) 10,650 13,300 A2,650
Il 10,650
201 fer=3| 9,300 10,300 A1,000
) 9,300
01 AtR2t2|HI 9,300 10,300 A1,000
OX=H 28 7ol= M S
4,300,000 4,300
) 4,300
o=l 5,000,000 5,000
Il 5,000
202 Ot 1,350 3,000 1,650
Il 1,350
01 SLHoIH 1,350 3,000 1,650
OXEHM 2& 04l 1,350,000 1,350
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SIE3: AMALHRRS
2 A sF4t0
3 o =lsE ¢ (SH &)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl &-IIEQ.E" HlwnE2
| ] T30
SUXNEZ HHFY| XA (XH) 77,350 87,000 A9,650
| 77,350
308 AHXIHMSOIH 77,350 87,000 A9,650
| 77,350
01 IXSHHBLEXRS 77,350 87,000 A9,650
OX=M d&EZH| K& 77,350,000& 77,350
| 77,350
EM OlHEH(ELZAHI) 9,010 8,430 580
| 9,010
206 =4l 9,010 8,430 580
| 9,010
01 M=l 9,010 8,430 580
OXEHMH ELHAI 9,010,000& 9,010
| 9,010
=2 54,247 74,689 A20,442
| 54,247
308 AXISHMSOIA 54,247 74,689 AN20,442
| 54,247
01 AXIEHZLAEXS 54,247 74,689 AN20,442
OzlstZd=sgEE 54,247,000 54,247
| 54,247
FJUBNA = 4,944 4,943 1
| 3,296
Al 1,648
308 RXISHMSOIH 4,944 4,943 1
| 3,296
Al 1,648
01 IXSHHBAEERS 4,944 4,943 1
OZ&EHA =N 4,944,000& 4,944
| 3,2%
Al 1,648
M2 MF X =SAE 208,000 38,900 169,100
| 208,000
308 AHXIHMSOIH 203,000 38,900 169, 100
| 208,000
01 AXIEHBAEES 208,000 38,900 169, 100
OXxg AFXISAY
208,000,000 208,000
| 208,000
HESE S2AY 70,14 70,194
308 AtXIHM SO & 70,14 70,194
01 AXIEHZAExS 70,1%4 70,14
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RS AP
2 A S
oM =2RsE 28 (2ol z8l)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
OHEZZ Z2AHY 70, 194,0002 70, 194
o E I 767,701 759,109 8,50
308 KXISHHISOIH 767,701 759,109 8,50
01 RXISHBASES 767,701 759,109 8,502
=x2 NWHDE It
619,453,0002! 619,453
Ol oHEBE Jtexe
69,608, 0002 69,608
ONETHEE JHAXI2 78,640,002 78,640
S0i2ol Bolag 6,841,000 6,841,000
308 XX SHAISOI 6,841,000 6,841,000
01 RXISHBASES 6,841,000 6,841,000
029l Bolag 6,841,000,0002! 6,841,000
NEEEICIEINEINEES 1,410,871 2,582,519 AT171,648
= 33,000
p] 24,000
Al 1,080,871
stneiola MADIBIAIE X4 256,516 31,525 105,009
403 RXISHH SRH20I & 256,516 31,525 £105,009
01 XIS E 256,516 31,525 105,009
a0l MAD|BIAIS F4
256,516,002 256,516
+ESAE SH(NT) 33,000 0 33,000
308 KHXISHHI SOIH 33,000 33,000
13 2| ZHSOICHE S A E P AL 33,000 33,000
OQHESAE SHOAAT HEA
33,000,002 33,000
SESAE SH(XR) 162,35 137,941 24,414
308 KHXIEHHISOI® 162,35 137,941 24,414
01 RXISHBAZES 162,355 157,941 24,414
OoRY SAE £5 HEXE |4
80,000, 0002 80,000
OSAE +BEIT N2
&,355,0002 8,35
HIE AME DS I(RE) 200,000 190,000 10,000
2 100,000
Al 00,000
307 Q12H0|H 200,000 190,000 0,000
= 100,000
Al 00,000
02 QIIAMARBE 200,000 190,000 0,000
OHiZ AlMEDS N2 (ZT)
200,000, 0002 200,000
= 00,000
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ARS|: MRAHFIRS
2 N =EAD
R CEEE)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
OR0PI= FEF AR 24,000, 0002 24,000
] 24,000
SABH2H A 136,000 0 136,000
2 136,000
308 XX SHAISOIH 126,000 0 136,000
2 136,000
O KX SHBAEES 136,000 0 136,000
OSAIBHIRH AlZAI
136,000,002 136,000
2 136,000
EE R 6,078,487 7,429,610 A1,351,123
2 1,862,956
Al 4,215,531
AsA=e N 1,474,561 1,364,513 110,048
308 XXIEHHISOIH 1,474,561 1,164,513 310,048
01 IR SHBAR XS 1,474,561 1,164,513 310,048
LN 66, 150, 0002 66, 150
OHEA LSS KR
42,714,002 42,714
OSU0I4S MAS X 7Y
141,875,0002! 141,875
OQIBNE 22 X8 966,831, 0002 966,831
OHBAEY LAY 56,991,002 56,991
OXZ ST (AW )AL
200,000, 000! 200,000
SOIZHI2 XIS (FHE-XH) (2 (R A 2,068,429 2,068,429 0
308 XHAISHAISOIH 2,068,429 2,068,429
01 IXSHBABES 2,068,429 2,068,429
ORIIZHIZE XI2(0/2 2-1t3)
2,068,429, 0002 2,068,429
D|TYIZ IHASE Y +304F X2 1,385,186 0 1,385,186
2 1,088,838
Al 346,298
308 XHAISHAISOI R 1,385,186 0 1,385,186
2 1,088,838
Al 346,298
01 IXSHBABES 1,385,186 0 1,385,186
DI|HHIR NABE Y £2OF X
1,385,186, 0002 1,385,186
2 1,038,838
Al 346,298
SYHSH X 804,466 756,390 138,076
2 620,058
Al 204,408
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PR MAIHPAR
2 N SN
¥ o =2XsE 7 (el @e)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
308 XXM SOl 894,466 756,390 138,076
= 690,058
Al 204,408
01 XN BSELS 894,466 756,390 138,076
OENEM N& 894,466,000 894,466
= 690,058
Al 204,408
=N KA 225,320 147,288 78,032
= 112,660
Al 112,660
308 XXM SOIA 225,320 147,288 78,032
= 112,660
Al 112,660
01 MRS SEXS 225,320 147,288 78,032
ORIIsLAM X2 225,320,000& 225,320
= 112,660
Al 112,660
GP Ot 24X 18,525 35,640 A17,115
= 12,350
Al 6,175
308 AFAIEHMSOIE 18,525 35,640 A17,115
= 12,350
Al 6,175
01 MRS SExXS 18,525 36,640 217,115
OGP ot8 e 24 X1d 18,525,000 18,525
= 12,350
Al 6,175
GAP PIMAIE 22 X2 12,000 0 12,000
= 9,000
Al 3,000
403 MR EHHMSAHE01H 12,000 0 12,000
= 9,000
Al 3,000
01 AXISHHA2EE 12,000 0 12,000
OGP AMAIE 22 XIS 12,000,000 12,000
= 9,000
Al 3,000
siE 28y Jlgtxd 3,360,519 4,435,804 A1,075,285
= 14,720
) 156,410
Al 3,189,389
ZetBAsSIH Sa 417,042 784,575 A367,533
403 MHXISHHSZ01N 417,042 784,575 A367,533
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SIS AR PR3
S A =EAD
3 ®: =SNsE @ GLEE)
SRS - RA - B - C2(S]H) - HRAY - BER Ol ap ot e HIR =2
01 AXISHHA=2 2L 417,042 784,575 N367,533
OHBILESIN 23
417,042,000& 417,042
SIIH LA (REA) 460,000 460,000
308 AtXIEMSOIE 160,000 160,000
01 HASHHBSEXS 160,000 160,000
OsIIH AL 2 K&
160,000,000 160,000
403 TR SHMSAH=01H 300,000 300,000
01 RXIEHRIA 2 2 2 300,000 300,000
OsIIHS A 300,000,000 300,000
SIHSSHER 22 K& 25,760 24,290 1,470
= 14,720
Al 11,040
403 MXITHHS 201N 25,760 24,290 1,470
= 14,720
Al 11,040
01 AXI=HA=E2 25,760 24,290 1,470
OIINSIHHT LN
25,760,000& 25,760
= 14,720
Al 11,040
ADIEZICTES S 212,717 181,669 31,048
Jl 156,410
Al 56,307
403 MXITHHSAH=201H 212,717 181,669 31,048
Il 156,410
Al 56,307
01 MHXIHH A 222 212,717 181,669 31,048
OAl& 2B tHat X3 118, 162,000 118,162
Jl 86,884
Al 31,278
OAEEg NI 27,265,000 27,265
) 20,048
Al 7,217
ONUTIZ X 67,290, 0002 67,290
Il 49,478
Al 17,812
=LaSeEsl ot K& 10,000 10,000
307 212+01& 10,000 10,000
02 LB HANHEE 10,000 10,000
O=NABRS &It N
10,000,000& 10,000
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PR MAIHPAR
FOMD sHEAD
8 H: =XNsE 79 (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
st 7S & 326,315 336,315 10,000
308 XXM SOl 326,315 326,315 0
01 MIXHMBdEx= 326,315 326,315 0
OYsts=its T2 & 50,000,000 50,000
Ostlz =& =74l A&
276,315,000 276,315
st M2FSHA =AY 517,590 412,020 105,570
403 NXISHHM S =20l1& 517,590 412,020 105,570
01 XEXISHMA 22 2= 517,590 412,020 105,570
Ostte R d2dELD X2
517,590,000 517,590
SHE HETAECH ZEMY XA 418,414 418,414 0
308 AXIHMSOIH 418,414 418,414
01 MXHMBdEx= 418,414 418,414
Oséts HEnASc LMLl A&
418,414,000 418,414
FAZusY |4 A& 834,531 1,084,171 199,640
403 NXISHH S =201& 834,531 1,084,171 199,640
01 XM A= E X 834,531 1,084,171 199,640
OZAZuUsY SN
240,644,000 240,644
OetatU=g sdAR
593,887,000 593,887
sH= Holils YH 453 X 60,000 60,000
403 MRS A=01H 60,000 60,000
01 RIXISHMIA 22 2 60,000 60,000
Osi= Soisdn 4=5 X
60,000,000 60,000
H NSzt SR EXIX2 78,150 0 78,150
403 NXIEHHS A =201& 78,150 78,150
01 XEXISHMA 2 22 78,150 78,150
Oodl ISzt S2& ZXXAd
78,150,000 78,150
SOHAIE 2t 1,226,000 0 1,226,000
= 300,000
Al 926,000
TESMECHAIZOIEHE SA 26,000 26,000
401 AlZHIL S CHY] 26,000 26,000
01 AlZHI 26,000 26,000
OAr=XI OHedoll IHE 8IS XIE
26,000,000 26,000
HUSA=E0AIE A USIAIY 1,200,000 0 1,200,000
= 300,000
Al 900,000
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P MABHPIAZ
2 M SE4T
o =2XsE 2 CERE)
CECRE VR LRy F HEAS - BES of v O HImS2
401 AlZHIZL SO 1,200,000 0 1,200,000
= 300,000
Al 900,000
01 Al&H| 1,200,000 0 1,200,000
OHEZA IS EEA 200,000,000& 200,000
OJl2 & &Ald 1,000,000,000& 1,000,000
= 300,000
Al 700,000
S THo Ol 22,694,550 17,047,560 5,646,990
= 18,366,500
Al 4,328,050
i==OH e (R E) 8,524,000 6,479,000 £2,955,000
= 3,524,000
402 2I2F X201 & 3,524,000 6,479,000 A2,955,000
= 3,524,000
02 QIZtXt= AL 3,524,000 6,479,000 A2,955,000
OH==IHEALS 3,524,000,000& 3,524,000
= 3,524,000
=X 2| LMK 3,780,000 3,500,000 280,000
= 3,780,000
402 2I2E X201 & 3,780,000 3,500,000 280,000
= 3,780,000
02 BIZEXF 2 AL E (0| 3,780,000 3,500,000 280,000
O=It2e| SN
3,780,000,000& 3,780,000
= 3,780,000
NG 2 SRR E 4= 16,279,250 6,881,000 8,398,250
= 11,062,500
Al 4,216,750
403 XIS A=201E 15,279,250 6,881,000 8,398,250
= 11,062,500
Al 4,216,750
01 AXIEHM A= 2 £ 16,279,250 6,881,000 8,398,250
OXgae|gEN
15,279,250,000& 16,279,250
= 11,062,500
Al 4,216,750
ISt sgE8+ S3AY 111,300 187,560 ANT6,260
403 Xt MIS A= 111,300 187,560 ANT6,260
01 A= 2L 111,300 187,560 AT6,260
OJtslitl =g&8 28
111,300,000 111,300
eHeE sgdatEr E 2,946,369 7,983,712 A5,037,343
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IS MABHPKS
2 A sH4
N M =2XsE P (CHel: &2l
RZ - RA - - S2(FH) - NIRAY - BLES Off AboH ﬁgg‘% Hns2
bl 182,259
Al 2,764,110
sX0ls2el X2 221,369 243,712 A22,343
pl 182,259
Al 39,110
308 XIXISHHISOIE 221,369 243,712 N22,343
bl 182,259
Al 39,110
01 MHXSHHBAEES 221,369 243,712 A22,343
OsXIO0ISAEHTA 221,369,000 221,369
bl 182,259
Al 39,110
2 $2lAlE BHl X 250,000 250,000 0
308 XXM SOIA 250,000 250,000
01 AXSHHABAE XS 250,000 250,000
Ol ALY HHIX
250,000,000 250,000
SI|BHEH|(ME-XI) (HEALY) 2,475,000 6,990,000 14,515,000
403 IR SHHSXH01A 2,475,000 6,990,000 4,515,000
01 RIXISHHIX = 2 X 2,475,000 6,990,000 4,515,000
OZFael SelAENE S (He-XId)
2,475,000,0002! 2,475,000
SHE NN 116,970 129,958 A12,988
= 31,800
Al 85,170
HELOS 2d s XY 1,260 1,560 A300
=2 600
Al 660
308 XIXISHHISOIE 1,260 1,560 A300
= 600
Al 660
01 AIXSHHBNEZZ 1,260 1,560 A300
OsEHE0IS d2s Us
1,260,000 1,260
= 600
Al 660
SEHE0IS AFRE Q14| 50,470 70,285 ~19,815
308 XIXISHHISO0IA 50,470 70,285 ~19,815
01 AXSHHBAE XS 50,470 70,285 ~19,815
OsEMELIS AR ol4H|
50,470,000 50,470
SEXE0IS 2 XY 3,900 3,900 0
= 3,000




M EERNEENEEE
2N SN
¥ M =XsE D8 (ol @2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
Al 900
308 XIXIEHHISOIE 3,900 3,900 0
2 3,000
Al 900
O RSB HRES 3,900 3,900 0
OsZHEE el Xa
3,900, 0002 3,900
2 3,000
Al 900
=Z0i AHlA OFEDS 6,140 9,213 £3,073
308 XXIEHHISO1& 6. 140 9,213 £3,073
O XS HZAZES 6.140 9,213 £3,073
Os&0l8 HHlA 9EDS
6, 140,0002! 6,140
SE2 AS 283 N 27,000 45,000 218,000
308 XXIEHHISOIH 27,000 45,000 £18,000
B EREREES 27,000 45,000 218,000
Os&2 A5 283 N
27,000,002 27,000
SEOISRENEA 28,200 0 28,200
= 28,200
308 XtXIEHHISOI& 28,200 0 28,200
2 28,200
O HXSHZLEES 28,200 0 28,200
OSENSRENLEA 28,200,002 28,200
2 28,200
=0 2B 23 9,921,867 8,977,245 4,622
2 1,229,618
] 3,246,027
Al 5,447,222
S050} 2oy X2 6.045,752 5,386,498 659,254
5] 2,69,006
Al 3,349,746
IIENSNE L P+BNS Mo 328,020 293,245 3,775
308 XEXIEHAISO1& 328,020 293,245 3,775
O HXSHPAZES 328,020 293,245 3,775
O}=QIB4+TE NS 25,545,002 25,545
OSY2EDH X2 90,300,002 90,300
OZOIKIMA B RIAY 2ES
40,0002 400
OAMRIE T2 39,375,002 30,375
OYsiY B4 T 172,400,002 172,400
SD2R 34 3,246,667 3,000,000 246,667
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P2 AHBHFIEE
M =S4
& M b FEH At EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Jl 1,948,000
Al 1,298,667
307 QI2t01™ 3,246,667 3,000,000 246,667
Jl 1,948,000
Al 1,298,667
02 QIZHAAAHE X 3,246,667 3,000,000 246,667
Ogtnesaa Ad 3,246,667,000& 3,246,667
2 1,948,000
Al 1,298,667
Aastse BdE |4 345,250 391,000 245,750
308 XXM SO0l 345,250 391,000 245,750
01 AXIEHBLEES 345,250 391,000 245,750
OstEHES ALY 345,250,000 345,250
S4EHZONE R KIA 258,810 277,167 A 18,357
308 XXM SO0IA 258,810 277,167 18,357
01 XN ELS 258,810 277,167 18,357
OJtEEh M2 K
21,210,000 21,210
OJEEL s +2Z&H XA
237,600,000 237,600
TAIRMAZE S K& 16,000 15,000 1,000
Jl 16,000
308 XXM SO0IA 16,000 15,000 1,000
D) 16,000
01 AXIEHEZAExS 16,000 15,000 1,000
OZAMzE SX=Y X
16,000,000 16,000
2 16,000
SISO E 723,000 658,970 64,030
Jl 442,416
Al 280,584
308 REXISHMSOIH 723,000 658,970 64,030
2 442,416
Al 280,584
01 XN EES 723,000 658,970 64,030
OstME0F ME A 723,000,000 723,000
] 442,416
Al 280,584
S=sE 00 K& 23,520 23,520
308 KXISHMSOIH 23,520 23,520
01 AUXIEHZLEXS 23,520 23,520
O4Y=s&<201 X 23,520,000 23,520
ZAE AFelXl HE=25d] XI& 200,000 200,000 0
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PR MAIHPAR
£ OM sHELD
8 I =o FyE Hat (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
2l 100,000
Al 100,000
308 ARISHMSOIE 200,000 200,000 0
] 100,000
Al 100,000
01 MXHMBdEx= 200,000 200,000 0
OZAE A2l MZE2SH X2
200,000,000 200,000
7l 100,000
Al 100,000
ANEeZE 2 1,200 1,200 0
206 MHZHI 1,200 1,200
01 M=l 1,200 1,200
OAzZFHAAZE ANZMHH M
1,200,000 1,200
ZEnloHole 111,000 111,000
403 MXISHMSA=0l& 111,000 111,000
01 XEXIHM A2 22 111,000 111,000
O=AF &2Z0id 28] X
111,000,000& 111,000
s HYSHHM XE 32,550 32,550
308 XXM SOl 32,550 32,550
01 XSS Ex= 32,550 32,550
O=Z0UYl Jtx HASSH X2
32,560,000 32,550
IEE el A X 240,000 240,000 0
403 MXIESHMSA=0l1& 240,000 240,000
01 XEXISHMA 222 240,000 240,000
OIEEZ=XIIH SHIXRAS
240,000,000 240,000
o A2=2FH X 42,000 47,250 A\5,250
308 XXM SOl 42,000 47,250 A\5,250
01 MAEHBEx= 42,000 47,250 15,250
O=d 2SRl X 42,000,000 42,000
FLH20F ICT 858 AH 185,000 0 185,000
2l 185,000
403 RIS A=01H 185,000 0 185,000
7l 185,000
01 XEXISHMA 222 185,000 0 185,000
O=LH20F ICT 858 =AY
185,000,000& 185,000
7l 185,000
F0iEE 2SN 6,660 0 6,660
Jl 4,440




PR MAIHPAR
£ OM sHELD
8 I =o FyE Hat (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 2,220
308 XXM SOl 6,660 0 6,660
7l 4,440
Al 2,220
01 XIS E2x= 6,660 0 6,660
O2=x0gg 25X 6,660,000 6,660
Il 4,440
Al 2,220
LHEXFE K& 225 750 N525
] 150
Al 75
403 XIS A=0l& 225 750 N525
Il 150
Al 75
01 RIXISHMIA 22 2 225 750 A525
OLHEXFE XA 225,000 225
Il 150
Al 75
SIRSSHI X2 7,200 7,200 0
308 XXM SOIH 7,200 7,200
01 MXHMBdE2x= 7,200 7,200
OsteS=Hl A& 7,200,000 7,200
ot LM s4=015Hl K& 1,500 1,500 0
308 AXIHMSOIH 1,500 1,500
01 MASNBLExRS 1,500 1,500
Otte UM sa=2S88l Xd
1,500,000 1,500
uss gHa)g 54 A3 59,500 59,500 0
308 XXM SOl 59,500 59,500
01 MIXHMBdE2x= 59,500 59,500
Ounss #a|g 54 X2
59,500,000 59,500
L2I1EIX&Yl X2 7,650 12,546 N4,8%
308 ARIMSOIE 7,650 12,546 N4,8%
01 HXHMBdEx= 7,650 12,546 N4,8%6
ORIIEIXIEE X 7,650,000 7,650
At HIZ= JIHEE] XIRAAE 210,000 210,000
403 MXISHHSA=01& 210,000 210,000
01 XXM A= 2 X 210,000 210,000
OAIZHIZ JIHEEl XT3 A
210,000,000 210,000
FohE Ny Het 370,676 355,280 15,3%
= 9,400
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P MAHBHAZS
2 M SEAL
M =4 3¥H Yg EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
) 208,593
Al 152,683
F42 200 £ Mzl XE(RE) 3,400 3,400 0
= 1,700
Al 1,700
206 THZHI 3,400 3,400 0
= 1,700
Al 1,700
01 M= HI 3,400 3,400 0
O=42 £t ¢ M=Hl N2 (HE)
3,400,000 3,400
= 1,700
Al 1,700
SME #=0H 2 HEHl X (X) 5,100 6,000 2900
= 3,000
Al 2,100
308 AXIMS0IA 5,100 6,000 2900
= 3,000
Al 2,100
01 HAHHBSEELS 5,100 6,000 2900
O=42 =0t & MIHl X3 (KY)
5,100,000& 5,100
= 3,000
Al 2,100
HUSMESAMZARZ 29 = 7,990 7,050 940
= 4,700
Al 3,290
308 AXIHHSO0IA 7,990 7,050 940
= 4,700
Al 3,290
01 HXHHBAEES 7,990 7,050 940
OgU=42 RAMTAIH =F
7,990,000& 7,990
= 4,700
Al 3,290
SatE0152e] X 39,186 36,830 2,3%
) 19,593
Al 19,593
307 2Ito1d 39,186 36,830 2,3%
2l 19,593
Al 19,593
02 2IZHBYAIAE & 39,186 36,830 2,3%
OA110] o1& ==Hl 39, 186,000 39,186




P MABHPIAZ
£ A sFL
g A = BdH Zg EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
pJ 19,593
Al 19,593
CEHAE o2 X2 315,000 302,000 13,000
) 189,000
Al 126,000
307 212+0I1H 315,000 302,000 13,000
l 189,000
Al 126,000
02 QI B AL E R 315,000 302,000 13,000
O==3 A2 21244| XI&
315,000, 000& 315,000
) 189,000
Al 126,000
HEYS &AL 2,158,658 2,298,977 A140,319
= 739,678
pJ 340,428
Al 1,078,552
II=EdZE 22U = 24,560 25,560 A 1,000
201 Zet2d] 11,590 12,590 1,000
01 AlR2telHl 7,480 8,480 A 1,000
O==2AAl H==nS W M=
3,480,000 3,480
OJt=gs g2= M& 3,000,000 3,000
O3 H4+¢ 1,000,000 1,000
2 s3234| 4,110 4,110 0
Oogdxty 24 4,110,000 4,110
206 M=Hl 12,970 12,970
01 =4l 12,970 12,970
OS=82sE +=HEHMbI
2,970,000 2,970
OFE= kel 10,000, 000& 10,000
=AY 22U X 463,264 488,851 N25,587
308 ARISHMSOIE 463,264 488,851 N25,587
01 AX N B ELES 463,264 483,851 N25,587
Oz=2 ¢ 61,200,000 61,200
OZAdg HgES A=t
91,750,000 91,750
Ot JIEsd8Y A543 K&
73,750,000 73,750
OJEa2Rd 28 ogss N
66,564,000 66,564
OJIENEE S0 29
170,000,000& 170,000
Hgets s N (HE) 158,721 161,676 N2,955




P MAHBHAZS
2 M SEAL
M =4 3¥H Yg EER=E)
S - M - FHH - SA(3H) - HIRAE - BEZ Off &bed %Eg‘% Hus2
= 88,219
Al 70,502
201 er23| 51,678 54,054 N2,376
= 25,839
Al 25,839
2 s5=34l 51,678 54,054 N2,376
OFLXESEM N 51,678,000& 51,678
= 25,839
Al 25,839
206 =4I 107,043 107,622 A579
= 62,380
Al 44,663
01 XH=HI 107,043 107,622 2579
OI=HSE OllgAt 107,043,000 107,043
= 62,380
Al 44,663
HgE S X3 (KY) 434,017 449,892 A 15,875
= 279,798
Al 154,219
308 XXM SOIA 434,017 449,892 A 15,875
= 279,798
Al 154,219
01 RSN EES 434,017 449,892 A 15,875
OSHXl MBHH0I2AA Ol AL
52,380,000& 52,380
= 34,920
Al 17,460
OZHE O TAt 28,199,000 28,19
= 19,747
Al 8,452
O4 24ty - 290 MWeE28H|
70,395,000& 70,3%
= 32,490
Al 37,905
O a2dEe Nz K&
31,500,000& 31,500
= 21,000
Al 10,500
OJt=s7t 2g2el Xd
27,000,000& 27,000
= 18,000
Al 9,000
OSAXE PS S| &AIME X
11,790,000& 1,790
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PR MAIHPAR
£ OM sHELD
8 I =o FyE Hat (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
= 7,860
Al 3,930
OSHz2238 & 2=HISXE
140,625,0002 140,625
= 93,750
Al 46,875
OOrds= SHAZE Dot
17,103,000 17,108
= 14,108
Al 3,000
O0rd=s= a3 0oy
7,930,000 7,930
= 6,531
Al 1,399
Oad=l| ss2H K&
36,000,000 36,000
= 24,000
Al 12,000
OAl AIZTHF HIE X2 11,095,000 11,095
= 7,397
Al 3,698
YATH S NA(XH) 28,000 28,000 0
= 20,000
Al 8,000
403 NXISHHM S =201& 28,000 28,000 0
= 20,000
Al 8,000
01 XEXISHMA 2 22 28,000 28,000 0
Oogaxte X 28,000,000 28,000
= 20,000
Al 8,000
RS oy S X3 243,057 287,211 N44,154
= 179,161
Al 63,8%
308 XXM SOl 243,057 287,211 A4, 154
= 179,161
Al 63,8%
01 MBS EXS 243,057 287,211 N44,154
OTHIS Ol Z==At 116,750,000& 116,750
= 96,236
Al 20,514
OFHS ogehsl §SAl=tl
107,692,0002 107,692
= 71,79




P MAHBHAZS
2 M SEAL
M =4 3¥H Yg EER=E)
RS - A - FB - SRA(S) - HRAY - BES Ol ko e HIRE
Al 35,897
OFHS LTS 23tAl
12,375,000& 12,375
= 8,250
Al 4,125
O4 FHS MWl 6,240,000& 6,240
= 2,880
Al 3,360
AHEENS 191,250 191,250 0
= 170,000
Al 21,250
308 XXM SOIA 191,250 191,250 0
= 170,000
Al 21,250
01 AXEH B2 LS 191,250 191,250 0
Odd==2a= 191,250,000 191,250
= 170,000
Al 21,250
=M= A 2l - A2 4,375 4,375 0
= 2,500
Al 1,875
308 XXM SOIA 4,375 4,375 0
= 2,500
Al 1,875
01 AXEH B EES 4,375 4,375 0
OJI=0HEX A= 2| 4,375,000& 4,375
= 2,500
Al 1,875
JIEAYLS A2 R SHH 2l2H| X2 216,200 212,000 4,200
pJ 130,000
Al 86,200
307 2I2t01 216,200 212,000 4,200
pJ 130,000
Al 86,200
02 2IZHBAMAHEE 216,200 212,000 4,200
O Al elAdl XI& 216,200,000& 216,200
) 130,000
Al 86,200
SSENE =29 318,290 310,450 7,840
) 159, 145
Al 189,145
307 2I2t01 318,290 310,450 7,840
pJ 159,145




P MAHBHAZS
2 M SEAL
M =4 3¥H Yg EER=E)
S - M - FHH - SA(3H) - HIRAE - BEZ Off &bed %Eg‘% Hus2
Al 159, 145
02 QIIBAANGER 318,290 310,450 7,840
OossgNH 29 318,290,000 318,290
pJ 159,146
Al 159,145
g AY elzet 76,924 57,712 19,212
) 51,283
Al 25,641
403 AXIEHMSAH=0lH 76,924 57,712 19,212
2l 51,283
Al 25,641
01 AXEM A 2EE 76,924 57,712 19,212
OCCvg gooimet 4X X
76,924,000 76,924
pJ 51,283
Al 25,641
=225 2e) 1,346,781 936,490 410,291
= 480,540
Al 866,241
24 RIISS 2el=F ML X 162,570 171,570 29,000
= 89,340
Al 73,230
308 AXIHSOIA 162,570 171,570 29,000
= 89,340
Al 73,230
01 AXHHNBHEES 162,570 171,570 29,000
O==% - BSHIXIE 92,820,000& 92,820
= 42,840
Al 49,980
OR4 - RIIS=S gL HIE N
69,750,000& 69,750
= 46,500
Al 23,250
2020 sdate=s N3 410,000 340,500 69,500
= 164,000
Al 246,000
308 XXM SOIA 410,000 340,500 69,500
= 164,000
Al 246,000
01 AX N B2 LS 410,000 340,500 69,500
OZ 0| S8tz X2
410,000,000& 410,000
= 164,000
Al 246,000
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P MAHBHAZS
2 M SEAL
M =4 3¥H Yg EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
AeN=A SHetes NE 47,300 55,000 A7,700
= 17,200
Al 30,100
308 AXIMSOIA 47,300 55,000 A7,700
= 17,200
Al 30,100
01 AXHHNBHEES 47,300 55,000 A7,700
OaeM=A Sdatez X
47,300,000& 47,300
= 17,200
Al 30,100
RIISSLLHEHEXINZ 339,906 0 339,906
= 210,000
Al 129,906
401 AlEBIYL S THYI 339,906 0 339,906
= 210,000
Al 129,906
01 Al&HI 335,335 0 335,335
Ottelss SX23HlE A&
335,335,000 335,335
= 206,119
Al 129,216
02 2teld| 3,191 0 3,191
Oetd == SXZ3HE Zeld
3,191,000 3,191
= 3,191
03 Al 20HHI 1,380 0 1,380
Ot =sE SXZ3HHE AIE 2]
1,380,000 1,380
= 690
Al 690
=lls= 2l 183,200 158,000 25,200
201 fet= 3| 2,000 2,000 0
01 AtR2t2l] 2,000 2,000 0
O=E2s 8228 H& 2,000,000 2,000
308 XXM SOIA 181,200 156,000 25,200
01 AX N B2 LS 181,200 156,000 25,200
RIIS=S 2 181,200,000 181,200
200| 2l &3t 405 810 2405
308 AXIMSOIA 405 810 2405
01 XN B2 LS 405 810 2405
Oz210l g4 X XA
405,000 405
OrdstEl RI1A X X 18,000 18,000 0




PR MAIHPAR
£ OM sHELD
8 I =o FyE Hat (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
308 XXM SOl 18,000 18,000
01 IXHMBdEx= 18,000 18,000
Oordste |I1A 2E X
18,000,000& 18,000
Rls= JAA=H A& 30,000 30,000 0
308 XXISHMSOIA 30,000 30,000
01 XIS ExS 30,000 30,000
ORJls= BdX=ZHl X2
30,000,000 30,000
2020l S4at N2 (Xl) 83,700 83,700 0
308 XXM SOl 83,700 83,700
01 MXHMBdE2x= 83,700 83,700
OZn0l 43t X (Xghl)
83,700,000 83,700
gtS= 2 AL WS 25,200 32,610 AT,410
308 XXM SOIA 25,200 32,610 AT,410
01 MIXHMBYEXS 25,200 32,610 AT7,410
Otteis= 23 AN W=
25,200,000 25,200
sSE=iAEs 724 € 2¢ 1,500 1,500
201 £er2aY| 1,500 1,500
01 Ak 2teltl 1,500 1,500
Os==i9ds 29 1,500,000 1,500
FHAAHS eteAs= A=l S N 15,000 19,800 A4,800
308 AXIHMSOIH 15,000 19,800 24,800
01 MXHMBdEx= 15,000 19,800 4,800
OFAHS eeds= 2=l S XE
15,000,000& 15,000
SSES AADHE B2AY 30,000 0 30,000
201 Zer= Y| 3,600 3,600
01 At 2teltl 3,600 3,600
OSEEZ AAMNE S2(S00LH, '248HA)
3,600,000 3,600
308 ARISMSOIE 26,400 26,400
13 SII2AS0 U X A=A 26,400 26,400
OAILBIA 2122700 S(HO0{04F, '248HAl)
26,400,000 26,400
WENE X2 82,170,386 71,312,085 10,858,301
stuga Xd 82,170,386 71,312,085 10,858,301
stuaa X 82,170,386 71,312,085 10,858,301
201 Ler2aY| 4,000 5,400 A 1,400
01 At 2teltl 4,000 5,400 21,400
ORIz B4+ S 4,000,000 4,000
206 MHZHI 13,094,267 13,843,026 AT48,759
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A2 MHAHARAZ
£ M sEUD
g X usME A (SH9 H2)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl ﬁgg‘% Hns2
01 24l 13,004,267 13,843,026 NT48,759
Ostusal 82X A
13,004,267,0002 13,004,267
308 XIXISHHISOI& 69,072,119 57,463,659 11,608,460
08 WEI|AMHBE X 69,072,119 57,463,659 11,608,460
oAz X 69,072, 119,000 69,072,119
HYSHAH 48,700 50,007 ~1,307
2Bl (ss40 48,700 50,007 ~1,307
SN2 48,700 50,007 ~1,307
201 Lete | 28,020 28,876 N85%6
01 Al22t2|l 26,020 26,876 A856
Oget==ZH| 10,044,000 10,044
o3&l 15,976,000 15,976
® I2294| 2,000 2,000 0
OXtFalety] 2,000,000 2,000
202 04| 15,760 16,211 N451
01 20| 15,760 16,211 451
OJ 12248 X0 15,760,000 15,760
203 YR EZY| 4,920 4,920
04 BA2IHLFAY 4,920 4,920
ORA2ILRF&I 4,920,000 4,920
NIPES(s=4tD) 4,006,094 3,001,3% 1,004,700
WESW NS 4,006,094 3,001,3% 1,004,700
022 223 a8 4,006,094 3,001,3% 1,004,700
705 O3S AE 4,006,094 3,001,3% 1,004,700
01 =23 4ast 2,833,334 2,833,334 0
Oss2AIIS (PR OAIZO0IE AFRiHI)
2,833,334,0002 2,833,334
02 Ol&=20| Rbatet 116,759 168,060 A51,301
OS2I S(FLZOHAIZOIE AtHI)
116,759,000 116,759
04 Al - SXISIHLD |20 2=20| Xhakst 1,056,001 0 1,056,001
OXeI|2(&w LA3A) =2 0kt
Abst 1,056,001,0002 1,056,001




H & 0l & AHS B Ml A

of
i’
oF
uJ

Kt

o

ol
- m
o ko
(4] 0
ok
= &l &0
R0 KO ~
3D &1 <
<K

CEE:
o
oF IF RO

% Mw N~ INE N
T E [E 5 5F JEEE T JEE A
A R R A T R 212|588 g|8 :
ERE 8 8| < < 2] e
D
N EEREEEE E N EE R EEENEE EE
Q Q N N Ks2) > | 0 o |lo =) > | oo | o | o
wr (2|8 |80 °|” 55 |dgg B |77 82|
n
RIS
< ol S B
228388 J|5|5/8|8 8 88|88 8 EIE|x T|8|8|8 8lg|l8 g|8|le 8 g gl|g8|8|8
— ™ NS < Y y ) ) y > > > > > > > > > > > 3 > > > > >
2 &8 AR BB & 8|8 &8 «
b=
W= W=
o W @ w W o i o ® oW
i g 88 g8 g g g g 8 8
N > > > > >
288 | 85| || §| 3| f¢°¢
: 2 ) S 3 3
- R i © - g 8
= = n 8 ®
wﬂ 0 B 30
TR & =3 ok
o Ul A Il i 31 < o
= ol oll KJ 0 <F H = 70
= ol - K 8l <+ K = o K
) = = 0+ O ar S A
= I 1 ] o z QD
oF %0 M o —_ 2 |® - 0 Loz 3
uy] i 2o [ EZ R o al Sw @ ®
o slal |2 oo R |ty o | B2 | A = BlEyg o o@ |E
K H0 ki~ S ® o- 0 X0 Kl | o = |3z 8 o =
R0 i |dlsls 2@ R O ®|s|e o o T |z = [0 = I =S P =
r b e e = K0 no | = = K|D|D
: - Hlwo|zo|m & & d\xlg 8 2l w3 R |mlemd |=|wd R & |||
x > P TR L = R T . LY [ I W lsofm|m & |S|H N |d@@ s o & ||
Ik RO o |5¢ | 20| % olokla 4 HlalEm ® (mplala d (AR d (R d & A |Wn|o
. K anf= Ko Kio L|z|= Ko KO | ki [y o 30| W (K RO ol Ko = Mo Ko 50 Kio 1| ol | =
o) - 31 =z Qe Qe % o ™ m o S| o S|+~ ~Nolo
ol 5 oD n < l<p} » {Fls
i ~ K0 IO oF
oF | =0 < Kio
30 KtO
<J

_91_



P2 MAHBHAZ S
£ OM MHFEAD
g M 40|18 dE30IE &5 EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
ORa01e A X HE S
6,080,000& 6,080
202 Ot 1,920 2,280 2360
01 =LH0d 1,920 2,280 A360
OR:J1Y & S0 1,920,000& 1,920
306 =H2 80,000 80,000
01 &= 80,000 80,000
OR=J1g dF 80,000,000& 80,000
S| FEAAE 2Y 100,000 93,900 6,100
306 £= 100,000 93,900 6,100
01 &2 100,000 93,900 6,100
OsAINY XS FAE NFALE 29
100,000, 000& 100,000
A HESHAMYES X 100,000 100,000 0
307 2I2to1 100,000 100,000
02 QIIHAANGER 100,000 100,000
OsAJIY MEStHHAMA(PLIZ2E X2
100,000,000 100,000
SAILYESEIE 245 X2 100,000 100,000 0
307 2Ito1d 100,000 100,000
02 LB HAHE L 100,000 100,000
OSAIILESAE 2435 AY X2
100,000,000 100,000
S| g¥YE € 2483 1,000 2,500 21,500
201 er23| 1,000 2,500 21,500
03 A2 HHI 1,000 2,500 21,500
OZZMZ oiAaE <t S L2 & 2583
S 1,000,000 1,000
E401e oHA0BRIE X 4,861,910 6,483,160 A 1,621,250
= 268,000
Al 4,593,910
XS AADAE X2(HE-2F)(HEAY) 1,560,000 1,560,000 0
308 AtXIEMSOIH 1,560,000 1,560,000
18 SIS0t 4 A AS A 1,560,000 1,560,000
Odiel e XJ(HE-2H)
1,560,000,000& 1,560,000
FEQICHEE 2 ofiA0PIE X 1,196,910 1,940,000 AT43,090
201 ger=3| 6,910 7,000 A0
01 AtR2te|H] 6,910 7,000 A
O==X2AMNY 2= M=
6,910,000& 6,910
308 XtXIEMSO0IE 1,190,000 1,933,000 AT743,000
18 SISOt EAS A 1,190,000 1,933,000 AT743,000
O=&0lzZet &5 X2 700,000,000& 700,000

_92_




o
il
T
uJ

K0

o

5
(-
w0
O
= &l ol
RO R0 ~
oD 31 <
< <K

B X &
i
oF I+ RO

. 818
ma mom =)
g o
5 818 olo
D = S
S35 8
J1< ~ g 3
[e0)
INT fee) A oo
D NS oo ol|o|o
=E < 3 N
IS 8
[ OO A
NEl A 81818
ild N Y S| |S 8188 =
TI= > - S
e S mmm EERE
— — m% M = 3
o - 3
~ N S HAEIEIEIE
8 8|88 %5,5,6,6,
yOO w © Yol H¥e)
%m,,o,o, 88 8 8|8
al S18(8|(8 S g O,OO%%%
g s & mmmmo,o,mmm AE
= 55mmwmo, wo,mm 3sls s gls
| =+ = | = S| & 5 mm
g|E|E mwwz,o,o,o,m 8 8 8
ig) S8 - S S 218
e 988 8|3 ,,0,66mmw
SERNR S W%%%,,G,BG 8
mma% © & Glw|w|w =
S8 o on o
ar (122 £ & W W
n |3 g8 88 o
5 m mm, S S S ] w =< o
Y18 8 8 8 S S W =
3l g8 g g = g ==
= =0 =T S g = z
3 g = = z
. > S
o @ ~8 8
ol -~ N =
) RD _ o
T o 0 _ o Pl D &l
A s & @ = |5l |5 & 7 i
ol 5 R ¥ | S ol
I R W= — ar = R
o Ko g Bl N 0 g - o
Klo | &2 1 s B K| - o -
%0 bl or >d ol N SR i) = T = 2L X0 =
Z H(X =3 < ko K 3 | = K 00| = RM= S =
S Gl o 5 Mz g ol | R w @ la| |3 & o0 3
T ) w0 % = o7 R P R L =3 zo OF < ) <
R B A o oo~ R = | l|® _ = o
e L S |Ro B ug = 90 30 = o | B 8 o) ok
H Wz (R o (R |E|2 e ] S 2R o
o B s Mla M o xl_ér(am_zo wlelz |5 K OH o -
o OO__sEm_:E o W waomw%m%mmoA @:I_OM% S M R | %0
Flsla © %:E Eﬂp_p_:ﬁﬂmv%_ﬂ o= (o 0|3 a g Ky | B0 =
oFl |81 O Oma_o_xg A |w R =lwlw @ R ) = o &1 R0
oF R szmoo_m_m_ | |s M = 2 0 =12 sl Ho
8| sy 'e) 20| =m0 M 0 MV_ 0 Ol e n s|lD|D X
Kto < |® © B | H A, -~ = o | o} 3|l <
03@ ~ K ao.rA_.E F
£ M ® ol n = ob |7
| S SB|teE
= 3 y © w_@g%Mm&
Oxﬂ11©
R0 | <4 | R
&M 0| KO
RS
&d

-8B -



od
i’
oF
uJ

oF Dk RO

A 1,805,945
A 1,815,445
A 1,000
A 1,000

21,001,000

60,000
60,000
60,000
10,000
10,000
570,000
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2,018,961

12,845

1,700,000,000&

331,806,000

1,700,000

318,961
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H & 0l & AHS B Ml A

o AED|EE FE LS (Gt H2)
A3 - A - ZB - GA(S) - HRAEY - BYS Ol &t e Hlm=2
At Xt 10,067,821 17,218,824 7,151,003
A MED |8 AUt 5,836, 141 8,851,800 3,015,659
o Y A5 Jlgxy 5,836,141 8,851,800 3,015,659
ZERMAHE & SHEE 2dl 175,800 175,800 0
308 XXITHMSOIA 175,800 175,800 0
13 SII2ASH US4 HAS ALY 100,000 100,000 0
OQIMTILAACHT] 22| PEFAIAHI
100,000,000& 100,000
[ZPISIE = 75,800 75,800 0
O3 L=t XAA A (Factorydn) =83
75,800,000 75,800
SO 54 JE2= 348,000 348,000
308 ARIHMSOIE 348,000 348,000
13 SIS US4 HAS ALY 348,000 348,000
OQIMEBLIRIQINE 2
348,000,000& 348,000
AOIEESE 2ot A 2,000,000 2,750,000 AT50,000
403 NXISHHMSA=20l1& 2,000,000 2,750,000 AT50,000
02 S| 2SO HStAZ X 2AE A I 2,000,000 2,750,000 AT50,000
OAOIESHE 22 & A0EMAFHA X
S 2,000,000,000& 2,000,000
SHET =4 29 4,930 0 4,930
201 Ler2aY| 1,330 0 1,330
01 At22tell 1,330 0 1,330
Oatd Xl =4 & 2=J|ge 5 ZFEMA
1,330,000 1,330
208 BF =2l 3,600 0 3,600
03 A=Y R =AY 3,600 0 3,600
OAIHFA YR =AY 3,600,000 3,600
ADIEAGEHA =X 3,182,800 5,578,000 12,395,200
202 0| 4,800 0 4,800
01 2oL 4,800 0 4,800
OA0IEME 24 =X SJ0YI
4,800,000 4,800
308 XXM SOl 3,178,000 5,578,000 2,400,000
13 SII2ASH US4 HAS ALY 3,178,000 5,578,000 2,400,000
O== i 8at ZHHISH (W) XA(=20t
AHEXH) 1,978,000,000& 1,978,000
OS2y 22l & 29
1,200,000,000& 1,200,000
AHET] JHEE R =X 19,392 0 19,392
201 Let2 3| 7,824 0 7,824
01 At22tell 7,824 0 7,824
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RS NHARIHHS
2 A AT
Hom: AR RFI|EE A2k L)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
SCEEEEEEREEE
7,804,0002! 7,824
202 01| 2,268 2,268
NETEE 2,268 2,268
OMASHT] HLYD SZ 01|
2,268,0002! 2,268
308 KHXISHHI SOI 9,300 9,300
13 BII 2 SOICHEHZ A RIS ARSI 9,300 9,300
OMEHT| HLYD 2t A2 B2
9,300,000%! 9,300
AT A2 HE 48 29 105,219 0 105,219
207 AP 105,219 105,219
EEERT 105,219 105,219
OMYUX 23 +8 89
105,219, 0002 105,219
#2A AL 23,680 0 23,680
JI= 28I (A XD 23,680 0 23,680
22| 23,680 0 23,680
=] 3,290 0 13,290
01 AFR 22| 13,290 0 13,290
OMSRIBE S 7.,146,0002! 7,146
o=zl 6. 144,0002! 6. 144
202 01| 7,390 7,390
NETEE 7,390 7,390
O=LHoiH| 7,390,0002! 7,390
203 R ZIY| 3,000 3,000
0% SN2YALREZY| 3,000 3,000
ORNSYLLFAY) 3,000,0002! 3,000
HRES (LX) 4,208,000 8,351,000 £4, 143,000
TESTETES 4,208,000 8,351,000 A4, 143,000
SESPRES 4,208,000 8,351,000 4,143,000
701 JIEtEINSEHES 4,208,000 8,351,000 A4, 143,000
01 JIEEHEES 4,208,000 8,351,000 A4, 143,000
OVSAHBHESSHEIN HES(MAAIL &
2 AbeS) 1,000,000, 0002! 1,000,000
ACHBHSHE N HES(LS2IN
Q1T THAYAIR) 3,208,000,0002! 3,208,000
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H & 0l & AHS B Ml A

04T Z0ilat LB AHATRIR S
P MABHPAZ
AR & PARag= Iy
g H:oodXxoiEgelst =2 (SH &)
AR - SN - BB - GBI - HRAY - BAS of v e HIREZ
Ol LA X &k 280,310,698 258,687,812 21,622,886
= 207,880,275
fas 1,717,400
Al 70,713,023
oidxiolEggelst =2 6,792,082 14,192,646 AT,400,564
= 845,275
= 1,717,400
Al 4,229,407
ORI MAHIE Atal7= - 2l 78,133 973,138 895,000
= 1,000
Al 77,138
HIUX E2SF 0 - 82 48,133 48,138
201 LBzl 30,338 30,338
01 Al2telsl 28,338 28,338
OlHXIES 82= S 7,500,000 7,500
OUIHXITA & SHKXE =2
2,338,000& 2,33
O2g+g(823 & HUXESIt 2 +=
g) 4,500,000& 4,500
OfHe &4 =¥ 9,000,000 9,000
ONUXIGET E2012 AS NS
5,000,000& 5,000
2 33234l 2,000 2,000 0
Oet=3=ddE 3 altl
2,000,000 2,000
202 04t 12,400 12,400
01 A 12,400 12,400
OOl Xl2ted A=A 2 U XIAIE ord
EEERS 12,400,000& 12,400
203 AR=TH| 5,400 5,400
03 Al H 22| 5,400 5,400
OO0 XIAIZALE =& 3,600,000& 3,600
Oold oflaSegdHxd R
1,800,000 1,800
HIUAl F20012 MOILE OHEl S 18,000 18,000 0
201 Zet=Eh] 18,000 18,000
03 A2 HI 18,000 18,000
OUIHRX =212 HIDILE izl S
18,000,000& 18,000
OIAXICHE & IF 10,000 10,000 0
201 Let2aY| 10,000 10,000
03 Ar2EHI 10,000 10,000
Q2024 OIAXICHE 20t 10,000,000& 10,000
NS0HA A& =& XA 2,000 2,000 0
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A2 MHAHARAZ
A XA
g H:oodXxoiEgelst =2 (SH &)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl %Eg‘% Hns2
= 1,000
Al 1,000
201 LBH2SY| 2,000 2,000 0
= 1,000
Al 1,000
01 Al22t2|l 2,000 2,000 0
OXS0LHRIHE 8 DS
2,000,000 2,000
= 1,000
Al 1,000
XU 23 5,057,200 1,977,150 3,080,050
= 600,400
=z 1,717,400
Al 2,739,400
ANEBRAG (RIS XIE ) (2E) 4,094,000 722,000 3,372,000
2 1,637,400
Al 2,456,600
401 AlEHI L] 273,000 0 273,000
= 109,200
Al 163,800
01 Al&HI 273,000 0 273,000
OXYGUHUHRX HAAMS(ANEEX) (AT
AbiA) 273,000,000 273,000
= 109,200
Al 163,800
404 BAISSHAEREES 3,821,000 722,000 3,099,000
Fay 1,528,200
Al 2,292,800
01 BAl - SEHXE2AES 3,821,000 722,000 3,099,000
OXIS0IUR AL (ALET)(ATAIL
2 1,688,000,0002 1,688,000
= 675,200
Al 1,012,800
OXSUHUHRX HAAML(AMEEE)(eIXSA
3 2,133,000,0002 2,133,000
=z 853,000
Al 1,280,000
ANEEZAS (XIS HHRIE ) (XIR) 140,000 175,000 35,000
= 80,000
Al 60,000
403 IR SHHSXH=01™ 140,000 175,000 35,000
= 80,000
Al 60,000
01 XIXISHHIX =B X 140,000 175,000 35,000
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P MABHPAZ
AR & PARag= Iy
g H:oodXxoiEgelst =2 (SH &)
AR - SN - BB - GBI - HRAY - BAS of v e HIREZ
OloT 22tS et FANOAIAY 2=(S
s7) 140,000,000 140,000
= 80,000
Al 60,000
FHoAHE NHRISXI(XIH) 823,200 1,080,150 N256,950
= 600,400
Al 222,800
403 MXISHHSK=201H 823,200 1,080, 150 N256,950
= 600,400
Al 222,800
01 REXIEHRIAt 2 2 2 823,200 1,080, 150 N256,950
OFHAANE HUX=SXMS (MASS S LD
wi) 823,200,000 823,200
= 600,400
Al 222,800
AU 25 65,000 401,511 A336,511
AITHAEUIUAXT A0 S AMS 50,000 50,000 0
308 XXM SOIA 50,000 50,000 0
13 SO 2 SOUEE 4 X 2AS A 50,000 50,000 0
S0 1A A A
50,000,000& 50,000
= M2 24 X 15,000 10,000 5,000
308 XXM SOl 15,000 10,000 5,000
08 WSJ |20t 2 & 15,000 10,000 5,000
O=2 M |4 A& 15,000,000 15,000
HUXSs otdst =8 1,555,164 10,818,847 19,263,683
= 243,875
Al 1,311,289
SEAXS 0L XXt St 2,000 2,000 0
202 Ot 2,000 2,000
01 2oL 2,000 2,000
O=MXIS HIHXIAIY =&
2,000,000& 2,000
CADMA ANESSHIS AEES 18,000 18,000
207 A IHEH] 18,000 18,000
01 A2 S| 18,000 18,000
OZAIIIA AMIE3HIE MHEES
18,000,000& 18,000
A FHAAS AL A 109,350 101,470 7,880
308 XXM SOIA 109,350 101,470 7,880
13 SO 2 SOUEE &4 X 2AS A 109,350 101,470 7,880
OIACHE FHAAS AEINLAS
109,350, 000& 109,350
LPG A ESS AL 1,080,000 1,080,000 0
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P MABHPAZ
AR & PARag= Iy
g H:oodXxoiEgelst =2 (SH &)
AR - SN - BB - GBI - HRAY - BAS of v e HIREZ
403 X SHHMSAH=01H 1,080,000 1,080,000
01 XIXIEHX=EE 1,080,000 1,080,000
OLFG HESSAtY 1,080,000,000& 1,080,000
LPGE Il ALEJE7 AIEIHE AL 65,814 57,377 8,437
= 43,875
Al 21,939
403 MXISHHSI=01H 65,814 57,377 8,437
= 43,875
Al 21,939
01 XXISMX=2EX 65,814 57,377 8,437
OLPGEI| AFEIt7 AIEHE AL
65,814,000 65,814
= 43,875
Al 21,939
OtS S92 LPG B2t KIZ AL 280,000 560,000 280,000
= 200,000
Al 80,000
403 MXISHHSI=201H 280,000 560,000 280,000
= 200,000
Al 80,000
01 REXIEHMIAt 2 2 2 280,000 560,000 280,000
OOrSEt?l LPG HH2t2r X1 ALY
280,000,000& 280,000
= 200,000
Al 80,000
HFHAAE S HIetA2e| =8 36,580 22,000 14,580
THetFFAlE ADotM 2te| =& 22,000 22,000
201 Let=Ehl 2,000 2,000
01 AlR2telHl 2,000 2,000
OMIIHEEE 22501 &2t
2,000,000& 2,000
308 XXM SOIA 20,000 20,000
13 SO 2SS & X 2AS A I 20,000 20,000
OHIIELATAHIA =
20,000,000 20,000
HIISAL &It W= 14,580 0 14,580
307 e12+0l1d 14,580 0 14,580
02 LB HAHE X 14,580 0 14,580
OTIISALAF HIIHH =
14,580,000& 14,580
dad Usxt 2= =i 255,914,200 243,801,750 12,112,450
= 207,035,000
Al 48,879,200
BAZSE skt 22 ¢ sHolEet F 255,914,200 243,801,750 12,112,450
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PR MHIHPRE
M Ol XA
3 M 2 NSk 22 = (SH9 H2)
A3 - FA - ZFH - SA(BH) - MRAY - BES Off &H2h %Eg‘% HwuEZ
= 207,035,000
Al 48,879,200
ST ESAE(HE) 91,441,200 133,940,000 A\42,498,800
= 68,569,000
Al 22,872,200
402 212EXH= 01 S 90,327,200 132,870,000 A42,542,800
= 67,455,000
Al 22,872,200
02 QIZHNHE2 AL E (01X THE) 90,327,200 132,870,000 A42,542,800
OISR LAESAE
65,087,000,000& 65,087,000
= 47,336,000
Al 17,751,000
O&J|et=xt 22 ESAtE
25,240,200,000 25,240,200
= 20,119,000
Al 5,121,200
404 SASEHHENES 1,114,000 1,070,000 44,000
= 1,114,000
01 SAl - SHA2dES 1,114,000 1,070,000 44,000
o337/ dIIsEX 22
20,000,000 20,000
= 20,000
o337/ dJlstext 22
44,000,000 44,000
= 44,000
O3 &JIHA 235
1,050,000,000& 1,050,000
= 1,050,000
SIINSI ES AL (XH) 272,000 200,000 72,000
= 272,000
403 XIS H=201E 272,000 200,000 72,000
= 272,000
01 XEXISHMA 222 272,000 200,000 72,000
O33712 &MIINSH 22(2
272,000,000 272,000
= 272,000
SII0IEX ESAt 1,446,000 2,400,000 954,000
= 964,000
Al 482,000
402 RIREXHE0IH 1,446,000 2,400,000 954,000
= 964,000
Al 482,000
02 QIZHNHZ AL E (01X THEA) 1,446,000 2,400,000 954,000
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P AHBHAZ S
£ M O XA
& M JEE NUsx B2 = EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
OHII0IER} 212F B A
1,446,000,000& 1,446,000
= 964,000
Al 482,000
S=AMIINSK ESME(EE) 159,807,500 103,387,500 56,420,000
= 134,282,500
Al 25,525,000
402 RI”FXH=201H 159,807,500 103,387,500 56,420,000
= 134,282,500
Al 25,525,000
02 QI X2 AL EE(OIHTHE) 159,807,500 103,387,500 56,420,000
O=2dMIIXSIt FeHl B
19,482,500,000& 19,482,500
= 17,482,500
Al 2,000,000
O=AHA FYH EX
138,525,000,000& 138,525,000
= 115,800,000
Al 22,725,000
O=2E= AYH 22X
1,800,000,000& 1,800,000
= 1,000,000
Al 800,000
SAMIINSK ESM(XIH) 2,947,500 3,712,500 AT765,000
= 2,947,500
403 MR SHHMSAH=01H 2,947,500 3,712,500 765,000
= 2,947,500
01 AXEH 22X 2,947,500 3,712,500 765,000
O=2MIIXSIt 2Ll B
67,500,000& 67,500
= 67,500
O=2HIISEAX FUH BX
2,880,000,000& 2,830,000
= 2,830,000
HE 23 43,416 43,416 0
J1234I(0IL X&) 43,416 43,416 0
2A24H| 43,416 43,416 0
201 er23 | 26,287 26,287 0
01 At2teltl 26,287 26,287 0
ORNEg=+SHI 11,287,000& 11,287
O=gHl 15,000, 000& 15,000
202 04l 12,329 12,329
01 =LH0i 12,329 12,329
OJl=gf=d 0| 12,329,000& 12,329
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A3 AHBHMARAE
S e =
o #E2A| SEIEIED
Rl - RN - B . O - HISAY - B ol ke O HlmE2
203 PRF=&H| 4,800 4,800
M REA2IEY 4,800 4,800
ORN2IY 4,800,000& 4,800
&S (oHXIASD 17,561,000 650,000 16,911,000
LHENHHKIZ 17,561,000 650,000 16,911,000
JIEI A ES 17,561,000 650,000 16,911,000
701 J|Et2| HISH 17,561,000 650,000 16,911,000
01 JIEt3IAHI A 17,561,000 650,000 16,911,000
OREHEHEE
17,561,000,000& 17,561,000
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SHAE S E A A

e AEFMER
N =XIZ
o =XZFAE (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
INFSESL, 28,522,594 21,962,624 6,559,970
= 10,315,978
fas 4,028,000
) 1,380,000
Al 12,798,616
SXZB ALY 1,674,786 1,379,786 295,000
= 50,000
Al 1,624,786
CAI=EAY 1,674,786 1,379,786 295,000
= 50,000
Al 1,624,786
R FH S5HAIY 11,786 11,786
201 LBzl 5,000 5,000
01 Al2telsl 5,000 5,000
OJtz= XNZ0l =gbl 5,000,000 5,000
202 Ot 3,186 3,186
01 2oL 3,186 3,186
OMEd ¢ =3MY 8L S
3,186,000& 3,186
203 R =2IY| 3,600 3,600
03 A=A R A 3,600 3,600
OFAl=zt Al 3,600,000 3,600
QUAEE =3 50,000 108,000 58,000
307 212+01H 50,000 60,000 10,000
04 QIISHAIAIZ B & 50,000 50,000 0
OgA2et=dZ Olsgdat 22 18=2Y
2 ER 50,000,000 50,000
AHE 222 Q= AUHME ZEAME 400,000 400,000 0
401 AIEHIZL 20| 400,000 400,000
01 AlZHI 400,000 400,000
OMAHE 222 TIE AHME ZgAY
400,000,000 400,000
ol A= MY 200,000 110,000 90,000
401 AIEHIYL 20| 200,000 110,000 90,000
01 Al&ZHI 200,000 110,000 90,000
OB ZE XA =8 200,000,000 200,000
old = MAlZ 48,000 0 48,000
201 ZBt=Eh] 48,000 48,000
03 Ar2 I 48,000 48,000
O 2 HAIS 48,000,000& 48,000
e dE=sd= JIRMES g 28801 25,000 25,000
401 AIEHIZL 20| 25,000 25,000
01 AlIZHI 25,000 25,000
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P MABHPAZ
£ A SAEHD
g M s3I (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
OW2d MESR= JI2HES ?I8 2E
got 25,000,000 25,000
S TEAMY 75,000 75,000 0
= 50,000
Al 25,000
403 MXISHHSK=01H 75,000 75,000 0
= 50,000
Al 25,000
01 XIXISHX=2EX 75,000 75,000 0
OFIasb gAY 75,000,000 75,000
= 50,000
Al 25,000
s O elHE 250,000 0 250,000
403 MXISHHS 201N 250,000 250,000
01 RIXIEHRIA 2 2 2 250,000 250,000
Ogt20ts Ol2leHE ArY
250,000,000 250,000
OIE SIIIZELEAY 615,000 675,000 60,000
403 MXISHHSI=01H 615,000 675,000 60,000
01 RXIEHMIAt 2 2 2 615,000 675,000 60,000
OQE Stz THAY
615,000,000 615,000
AENE 25 2 MEFRSI Y 26,763,584 20,510,841 6,252,743
= 10,242,654
= 4,028,000
2l 1,380,000
Al 11,112,930
st ool =7 3,939,897 3,366, 168 573,729
= 2,324,548
fas 478,000
Al 1,137,349
AL HEIS S EOL 3,922 3,922 0
= 2,746
Al 1,176
401 AIEHIZL 20| 3,922 3,922 0
= 2,746
Al 1,176
01 Al&€HI 3,922 3,922 0
OA e Etgd ot 3,922,000 3,022
= 2,746
Al 1,176
AHAIEEHE 8O 7,844 11,766 N3,922
= 5,491
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PR MAIHPARE
SRR N E=E
3 M MEE BES E MEFRY (SH9 H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 2,353
401 AlZHIL S CHY] 7,844 11,766 A3,922
= 5,491
Al 2,353
01 AlEZHI 7,844 11,766 N3,922
OAMEZAIY EtEd Ot 7,844,000 7,844
= 5,491
Al 2,353
NALoHLHS (oH A A Y X 7,844 3,922 3,922
= 5,491
Al 2,353
401 AlZHIL 2 CHY] 7,844 3,922 3,922
= 5,491
Al 2,353
01 AlZHI 7,844 3,922 3,922
OdirEASXIAE Bt
7,844,000 7,844
= 5,491
Al 2,353
ALALEY 24 RAXIS AEHZA 105,000 15,400 89,600
= 52,500
Al 52,500
401 AlZHIL 2 0HY] 105,000 15,400 89,600
= 52,500
Al 52,500
01 AlZHI 105,000 15,400 89,600
OLHAEY 2 A X
105,000,000& 105,000
= 52,500
Al 52,500
AL XA 227,500 227,500 0
= 175,000
Al 52,500
403 MXIEHMSA=0l& 227,500 227,500 0
= 175,000
Al 52,500
01 XXM A 22X 227,500 227,500 0
OArZ g XI& 227,500,000 227,500
= 175,000
Al 52,500
ASAIE (HFE2A) (XI) 362,637 352,637 0
= 271,259
Al 81,378
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PR MAIHPARE
SRR N E=E
3 M MEE BES ¥ MEFAS &4 (Gt H2)
SIRIB| - BA - HH . CH(31) - NISAIY - BYS Ofl Ao &]E&. HRS2
403 NXIEHMSA=201& 352,637 352,637 0
= 271,259
Al 81,378
01 XXM A2 2 2= 352,637 352,637 0
OAHZEH (X&) 352,637,0002 352,637
= 271,259
Al 81,378
SRIARE AIE (X&) 204,840 147,420 147,420
= 226,800
Al 68,040
403 NXIESHHM S =20l& 294,840 147,420 147,420
= 226,800
Al 68,040
01 XM A2 Ex 294,840 147,420 147,420
OL&HRI AFEAIE (K1) 294,840,000 294,840
= 226,800
Al 68,040
N ALHLHS (R AE AL AlE) 579,544 289,772 289,772
= 445,804
Al 133,740
403 NXISHHSA=201& 579,544 289,772 289,772
= 445,804
Al 133,740
01 XM A2 E X 579,544 289,772 289,772
OdlierE A HRIAIE 579,544,000 579,544
= 445,804
Al 133,740
AZAIE B 7,007 4,605 2,402
= 5,390
Al 1,617
308 AXISHMSOIA 7,007 4,605 2,402
= 5,390
Al 1,617
01 XSS Ex= 7,007 4,605 2,402
OAMZAIE 22EH 7,007,000 7,007
= 5,390
Al 1,617
AITHOH L Kt SHOI(AAMER S 2ol et 106,382 104,194 2,188
= 73,367
Al 33,015
308 XXM SOl 106,382 104,194 2,188
= 73,367
Al 33,015
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PR MAIHPARE
SRR N E=E
3 M MEE BES ¥ MEFAS &4 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
01 MRS BdExXS 106,382 104,194 2,188
OAALEH S& o2 106,382,000& 106,382
= 73,367
Al 33,015
ArETHOH L A2l EDI(M= 20 AISHH) 1,254,0% 1,225,000 29,096
= 864,8%4
Al 389,202
308 NIXISHMSOIM 1,254,0% 1,225,000 29,006
= 864,8%4
Al 389,202
01 HIXHMBLE2x= 1,254,0% 1,225,000 29,096
Ott=H8Z M X=tih 1,254,006,0002 1,254,096
= 864,8%4
Al 389,202
SEMEAURSE 17,384 18,100 AT16
201 Ler2 3| 15,100 15,100
01 At2tell 9,600 9,600
O] 5,000,000 5,000
OIul=tl 1,600,000 1,600
Oget+24| 3,000,000 3,000
2 =23l 5,500 5,500 0
Otr=XI2IxteE =l 4,000,000 4,000
ORd= Szl 500,000& 500
OXNsSXEE Axteol IDIFE3
1,000,000 1,000
202 0| 2,284 3,000 AT16
01 2oL 2,284 3,000 AT16
Odt2 & atXj2tel ol 2,284,000 2,284
AS X (B &) ZADIEES 15,080 15,080 0
= 10,400
Al 4,680
308 ARISM SOOI 15,080 15,080 0
= 10,400
Al 4,680
01 XIS E2x= 15,080 15,080 0
OZADIE &5(3Y) 15,080,000 15,080
= 10,400
Al 4,680
ASLUXH(H=Z) 2ADEES 69,600 0 69,600
= 48,000
Al 21,600
403 X SHMSAH=0l& 69,600 0 69,600
= 48,000

- 120 -




0

0 4 H0

o
J0
o
0

i

0x
Jo

dEc
Ofl xt ol

Hlw

Ol
N

Al

21,600

69,600,000&

W

Al

69,600
69,600
48,000
21,600

69,600

H

Al

22,330
15,400
6,930

22,330

H

Al

22,330
15,400
6,930

22,330

22,330,000

H

Al

22,330
22,330
15,400

6,930

22,330

H

Al

11,310
7,800
3,510

11,310

H

Al

11,310
7,800
3,510

11,310

11,310,000&

H

11,310
11,310
7,800
3,510

11,310

W

Al

82,650
57,000
25,650

82,650

H

Al

82,650
57,000
25,650

82,650

82,650,000

H

82,650
82,650
57,000
25,650

82,650

W

Al

47,560
32,800
14,760

47,560

W

Al

47,560
32,800
14,760

47,560

47,560,000&

47,560
47,560

47,560
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PIE3: MLARRIES
g SXIE
3 SHENE 25 2 MEFds M (Gt H2)
(23] - A4 - FF - SA(E) - MRAY - BES Ofl &bl ﬁgg‘% Hns2
=2 326
Al 489
405 XA SH 815 800 15
2 326
Al 489
01 KoL S EF S| 815 800 15
OMENS 28 L ZA 815,000 815
2 326
Al 489
AUTAIE(ZA)(LTEIYHEIIS) 1,429 1,429 0
2 1,000
Al 429
201 YEH2g| 1,429 1,429 0
= 1,000
Al 429
01 AtR2elt| 1,429 1,429 0
AT EIYSEI} RS
1,429,000 1,429
2 1,000
Al 429
UTAIE(FZald)(2H) (XH2) 545,143 477,714 67,429
2 477,000
Al 68,143
403 XIXISHHIS K20l ™ 545,143 477,714 67,429
2 477,000
Al 68,143
01 RXISHA2E X 545,143 477,714 67,429
ONEUT AL 545, 143,0002! 545,143
2 477,000
Al 68,143
AZAIE (FZNE) (XH2) (HE-XI2 ) (HEALY) 108,800 80,000 28,800
403 KX S EXH0IH 108,800 80,000 28,800
01 RXISRIRH=E X 108,800 80,000 28,800
AUTAZX N 108,800,0002 108,800
UTAIL (B4 (LT22IR) (M E-XI ) ) (B EHALR) 24,000 16,000 8,000
308 XXX SOl 24,000 16,000 8,000
01 X SHHBAEES 24,000 16,000 8,000
ogz el 24,000,000 24,000
MR 258Y 3,906,025 5,175,134 21,269,109
2 2,518,200
Al 1,387,825
A2l ATHZ AL 40,500 40,432 %
401 AIZHIZL S THYI 40,500 40,432 68
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PR MAIHPARE
SRR N E=E
3 M MEE BES ¥ MEFAS &4 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
01 Al 40,000 40,000 0
AR ATHSA 40,000,000 40,000
03 Al CHHI 500 432 68
OAlZY ATHSAL SO 500,000& 500
=0l OE YA 5,000 5,000 0
206 MHZHI 5,000 5,000
01 M=ZHl 5,000 5,000
O=IH1)| A HE 7
5,000,000 5,000
rE(2URSAxE) 78,324 31,330 46,994
= 60,250
Al 18,074
403 MXISHMSA=01& 78,324 31,330 46,994
= 60,250
Al 18,074
01 XXM A= 2 X 78,324 31,330 46,994
O2us 9= 78,324,000 78,324
= 60,250
Al 18,074
R (SIS AEIHRI]) 243,559 189,436 54,123
= 187,353
Al 56,206
403 MXISHHS 201N 243,559 189,436 54,123
= 187,353
Al 56,206
01 XM A 22X 243,559 189,436 54,123
O8NS IR 243,569,000 243,559
= 187,353
Al 56,206
FH=IHIN(KIH) 547,250 772,108 N\224,858
= 420,962
Al 126,288
403 NXIEHHM S =201& 547,250 772,108 N224.,858
= 420,962
Al 126,288
01 XM A2 E X 547,250 772,108 1224858
O=8Xl I 429,842,000 429,842
= 330,648
Al 9,194
Ott=0g =t37| 96,254,000 96,254
= 74,042
Al 2,212
Ott= =& 21,154,000 21,154
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PIEZ MAZHARE
£ M =XEn
3 M MEE BES ¥ MEFAS &4 (Gt H2)
LIA3| - A - - H2((3) - HRAY - BES Oil &k %E&E" HwE2
= 16,272
Al 4,882
ZAYIRIN(XIE) 557,045 948,386 A391,341
= 428,4%6
Al 128,549
403 XX SAH=0lH 557,045 948,386 A391,341
= 428,4%6
Al 128,549
01 TS AH=E £ 557,045 948,386 A391,341
o328 JHJ| 557,045,000& 557,045
= 428,4%6
Al 128,549
ANRBEITEBRSF(XH) 23,324 22,852 472
= 23,324
308 KEXIEHHMSOIS 23,324 22,852 472
= 23,324
01 AXIEHELAExS 23,324 22,852 472
OAl=E 3932 B 23,324,000 23,324
= 23,324
ArRATHOH L Ktel SOI(AZEH S22 T (F4) 324,142 317,265 6,877
= 249,340
Al 74,802
308 XXIEHHMSOIA 324,142 317,265 6,877
= 249,340
Al 74,802
01 XN BAELS 324,142 317,265 6,877
OLHHE HSLMH (B4
324,142,000& 324,142
= 249,340
Al 74,802
ARATHOH L Ktel EHOI(MEH S0 LIS (RH2) 6,604 6,604 0
= 5,080
Al 1,524
403 XX EHHIE X0 6,604 6,604 0
= 5,080
Al 1,524
01 XXX A= 2 £ 6,604 6,604 0
OLHEEHE LM (X2)
6,604,000& 6,604
= 5,080
Al 1,524
AIHENSYM(ALIR HESY 2 (RE) 26,511 27,000 2489
= 18,558
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A2 MHAHARAZ
£ M sSXEHY
3 M MEE BES ¥ MEFAS &4 (Gt H2)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl %Eg‘% Hns2
Al 7,953
101 Q1AH| 26,511 27,000 N489
= 18,558
Al 7,953
04 IIZH22 RS2 26,511 27,000 489
OAUR &S SRI(ZHSBARS 1)
26,511,0002 26,511
= 18,558
Al 7,953
AEENSYRM (AL A S LR (RIH) 62,700 91,270 ~28,570
= 59,003
Al 3,697
308 XIXISHHISOI& 62,700 91,270 ~28,570
= 59,003
Al 3,697
01 MHXSHHBAEXRS 62,700 91,270 N28,570
OLUR THES Gl (==2-=AL)
62,700,000 62,700
= 59,003
Al 3,697
A S YR (LSS (X)) 517,556 526,702 N9, 146
= 407,614
Al 109,942
308 XIXISHHISOIE 517,556 526,702 N9,146
= 407,614
Al 109,942
01 MHXSHHBAEERS 517,556 526,702 N9, 146
OLety HELH(XIH) 517,556,0002 517,556
= 407,614
Al 109,942
A SR 2,236 2,236 0
201 LBH29Y| 2,236 2,236
01 AFR222ldl 2,236 2,236
o=l 1,736,000 1,736
Oget==ZH| 500,000 500
254 MSSZINA ALY 60,000 60,000 0
403 RIXISHHISIH201 ™ 60,000 60,000
01 RMXISHHIX2E X 60,000 60,000
O25% FH| 60,000,000 60,000
ez SNEIZUY B3 7,800 6,000 1,800
= 4,680
Al 3,120
403 MR SHHSXH=01™ 7,800 6,000 1,800

- 126 -




PR MAIHPARE
SRR N E=E
3 M MEE BES ¥ MEFAS &4 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
= 4,680
Al 3,120
01 XEXISHMA 22 2= 7,800 6,000 1,800
OFHE SHES 22 7,800,000 7,800
= 4,680
Al 3,120
ABISXE SHRIZL 28 13,520 10,400 3,120
= 10,400
Al 3,120
403 NXISHHSA=201& 13,520 10,400 3,120
= 10,400
Al 3,120
01 AXIHMA 22X 13,520 10,400 3,120
OMZ=EXE SHEK 22
13,520,000 13,520
= 10,400
Al 3,120
MNeERRE 29 150,3% 166,400 16,004
= 150,39%
308 XXM SOl 150,396 166,400 16,004
= 150,3%
01 MAEHBEx= 150,39%6 166,400 16,004
OAt&l MHIAZ0F 13|
150,396,0002 150,396
= 150,3%
S| EE S 28+ 6,000 6,000 0
201 Zer=2 Y| 6,000 6,000
01 AlR2telHl 6,000 6,000
Ot 2e|Rgs & 2=
6,000,000 6,000
MEAHIAER0(+52) 23X (HE) 23,400 22,908 492
= 11,700
Al 11,700
101 21| 23,400 22,908 492
= 11,700
Al 11,700
M N =22 RS2+ 23,400 22,908 492
O==g 2CIUI0IH 23,400,000 23,400
= 11,700
Al 11,700
LMEMBIAER0I(+S2)2S X (XH) 19,890 19,472 418
= 11,700
Al 8,190
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PR MAIHPARE
SRR N E=E
3 M MEE BES ¥ MEFAS &4 (Gt H2)
SIRIB| - BA - HH . CH(31) - NISAIY - BYS Ofl Ao &]E&. HRS2
308 XXM SOl 19,890 19,472 418
= 11,700
Al 8,190
01 HXHMBdEx= 19,890 19,472 418
O===& 2CIUIOIE] 19,890,000& 19,890
= 11,700
Al 8,190
MEMHIAER0I(45) 2SN (HE-X1H) 343,980 372,500 A28,520
308 ARISHMSOIE 343,980 372,500 A28,520
01 XSS SEx= 343,980 372,500 128,520
OZAIsX 223 191,100,000& 191,100
Ogas ICIUI0IE 57,330,000 57,330
O=Z SAaAEA 76,440,000 76,440
O e 22/ 19,110,000& 19,110
sl dMSESNH2LAS2SNNA(HE) 146,670 114,664 32,006
= 73,33
Al 73,336
307 2IZto & 146,670 114,664 32,006
= 73,33
Al 73,33%
05 QIZtRIE 3 146,670 114,664 32,006
O=dl& AESNHEY ASH2E N
146,670,0002 146,670
= 73,33
Al 73,33
sl EMSESNH2LAS2SRNA(XE) 124,670 146,19 A21,526
= 73,33
Al 51,3%
308 XXM SOl 124,670 146,196 A21,526
= 73,33
Al 51,3%
01 IXHMBdEx= 124,670 146,196 A21,526
O=dl&ga EENHEY ASH2E N
124,670,0002 124,670
= 73,33
Al 51,33%
Fotzus23(HE) 176,004 200,662 A24,658
= 88,002
Al 83,002
307 2Izto A 176,004 200,662 A\24,658
= 88,002
Al 88,002
05 QIZtRE 3 176,004 200,662 N\24,658
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0

0x T d0

[
0
o
[0

SI) - HIRAY - BEZ

Off &H2h

dEc
Ofl xt ol

Hlw

Ol
N

117,336,000

58,668,000

H

Al

W

Al

117,336
58,668
58,668
58,668
29,334
29,334

H

Al

398,944
234,672
164,272

389,85

9,088

H

Al

398,944
234,672
164,272

389,85

9,088

398,944,000

H

=

398,944
398,944
234,672
164,272

389,8%

9,088

= 83N

18,917,662

5,399,906
3,550,000
1,380,000
8,587,756

11,969,539

6,948,123

H

Al

37,800
21,600
16,200

10,325

27,475

H

37,800
21,600
16,200

10,325

27,475

37,800,000&

W

Al

37,800

37,800
21,600
16,200

10,325

27,475

H

Al

5,938
4,890
1,048

1,408

4,530

H

5,938
4,890
1,048

1,408

4,530

5,938,000&

W

Al

5,938

5,938
4,890
1,048

1,408

4,530
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k! AMA BRI 3
£ =XIE 20
g SMERE 25 U MEHFEAZE =M (SH &)
1R8] - A - BB B9(B) - HRAY - BAS ol v e HIDZ2
FEAuMS0I23A 532 266 266
= 304
Al 228
308 AHXIHMSOIH 532 266 266
= 304
Al 228
01 AXSHHBLEES 532 266 266
ObrrAl MADE 2OI(H AT XIR)
532,000 532
= 304
Al 228
NS M A 725} 55,440 40,040 15,400
= 31,680
Al 23,760
403 XX SHHSK=01H 55,440 40,040 15,400
= 31,680
Al 23,760
01 X SHH =2 E xR 55,440 40,040 15,400
ORI 2 E AR ZHALS
55,440,000& 55,440
= 31,680
Al 23,760
SAHEZ= =4 3,375,000 500,000 2,875,000
sy 2,250,000
Al 1,125,000
403 XX SHHSKH=01A 3,375,000 0 3,375,000
Eay 2,250,000
Al 1,125,000
01 MRS A28 = 3,375,000 0 3,375,000
OZAlbEd= &4 3,375,000,000& 3,375,000
= 2,250,000
Al 1,125,000
AHHeta Jels =4 825,000 450,000 375,000
sy 550,000
Al 275,000
403 XX SHHMSKH=01A 825,000 450,000 375,000
sy 550,000
Al 275,000
01 MRS X2 = 825,000 450,000 375,000
OXHHeral Ogl= =y 825,000,000& 825,000
s 550,000
Al 275,000
NAH SAlz =8 (HE-XIR) (M EAIY) 225,000 315,000 290,000
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ek MAB R 2
£ =X1E 20
g MR B Y MEE (EEEE))
(R3] - A - & - H2((3]]) - HRAY - BES Ofl &kl %-:LSFQ.E" HwsZ
403 NXIEHSIH=01A 225,000 315,000 90,000
01 XM= 2L 225,000 315,000 A90,000
OstusE LA (A
225,000,000 225,000
JIZEUE SAlIE =4 (HE 1,000,000 1,000,000 0
= 500,000
Al 500,000
401 A2 HIL 2] 1,000,000 1,000,000 0
= 500,000
Al 500,000
01 A=l 1,000,000 1,000,000 0
OJIZEUS TAl= = S
1,000,000,000& 1,000,000
= 500,000
Al 500,000
JIEUS TAlE =4 (X 7,125,000 6,000,000 1,125,000
= 4,750,000
Al 2,375,000
403 XXM S 201 A 7,125,000 6,000,000 1,125,000
= 4,750,000
Al 2,375,000
01 AXISHHA2EE 7,125,000 6,000,000 1,125,000
OJIZUS TAl= =
7,125,000,00024 7,125,000
= 4,750,000
Al 2,375,000
OIMISIXl M2 AU Al=Sd 2IAN 20,000 20,000 0
201 2] 14,000 14,000
01 AFS2teltl 14,000 14,000
ODIMSX M2 ALK 2l
A 14,000,0002 14,000
206 MH=HI 6,000 6,000
01 M=4l 6,000 6,000
OOIMIZX M2 Al (A2
A 6,000,000 6,000
SR SAE XM 600,000 0 600,000
2 600,000
403 NXIEHS =201 600,000 0 600,000
Jl 600,000
01 A A2 2 £ 600,000 0 600,000
OREM TAl= =4 600,000,000 600,000
] 600,000
B UXY = THA(ZE 500,000 500,000 0
s 250,000
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PR MAIHPARE
SRR N E=E
3 M MEE BES ¥ MEFAS &4 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 250,000
401 AlZHIL S CHY] 500,000 500,000 0
[ 250,000
Al 250,000
01 AlEZHI 500,000 500,000 0
Odz Y = T4AY
500,000,000 500,000
= 250,000
Al 250,000
ME XY = TEAME(XY) 750,000 0 750,000
2 500,000
Al 250,000
403 MRS A=201H 750,000 0 750,000
[ 500,000
Al 250,000
01 IXISHMA 22X 750,000 0 750,000
Odzexd = ZEAS(XIZE)
750,000,000 750,000
= 500,000
Al 250,000
ALY SAXNFIZS(0/HEH & Ard2e) 3,745 0 3,745
= 3,745
308 XXM SOl 3,745 0 3,745
= 3,745
01 MASHNBLExES 3,745 0 3,745
Ooldd8d 2 A2t 3,745,000 3,745
= 3,745
gL SAXNFX=S(HEX=3 N2) 49,287 0 49,287
= 49,287
308 XXM SOl 49,287 0 49,287
= 49,287
01 IXHMBYEXS 49,287 0 49,287
oggx=3 N2 49,287,000 49,287
= 49,287
Fot=HE AT g2 (Ha-X12H) 422,500 195,000 227,500
403 XSS A=0l1& 422,500 195,000 227,500
01 RIXIEHMIA 2 2 2 422,500 195,000 227,500
0= MEgd Tdael
422,500,000 422,500
=2 Zdae|(HE-X) 2,307,500 1,852,500 455,000
403 NXIHHMS A =201& 2,307,500 1,852,500 455,000
01 XEXISHMA 2 22 2,307,500 1,852,500 485,000
O=Z xg2el 2,307,500,000& 2,307,500
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PR MAIHPARE
SRR N E=E
3 M MEE BES ¥ MEFAS &4 (Gt H2)
A3 - FA - ZFH - SA(BH) - MRAY - BES Off &H2h %E%E" HwuEZ
Heeh LF Lhs2 ZEA(HE) 700,000 0 700,000
] 420,000
Al 280,000
401 AlZHIL 2 CHY] 700,000 0 700,000
Il 420,000
Al 280,000
01 AlZHI 700,000 0 700,000
O LHMU=sE ZHAY
700,000,000 700,000
7l 420,000
Al 280,000
P LhsZ AL (XIH) 360,000 0 360,000
] 360,000
403 NXISHHMSA=201& 360,000 0 360,000
Il 360,000
01 XEXISHMA 22 2= 360,000 0 360,000
OF&M Us2Z THAIE
360,000,000 360,000
7l 360,000
LEFLAL S Mol HHSAE 49,920 0 49,920
= 38,400
Al 11,520
308 XXM SOl 49,920 0 49,920
= 38,400
Al 11,520
01 XIS E2x= 49,920 0 49,920
OUIES AL SEol HSAI
49,920,000 49,920
= 38,400
Al 11,520
FEreE stE A OHE AN 500,000 0 500,000
403 MXI S A=0l1& 500,000 500,000
01 XEXISHMA 22 2= 500,000 500,000
O=sret stdd HEAE
500,000,000 500,000
SAL2SEdZ FA 2l 5,000 0 5,000
201 Zer=2 Y| 5,000 5,000
01 At 2teltl 5,000 5,000
OSAZetSd2 A8 24|
5,000,000 5,000
Y23 84,224 71,997 12,227
= 23,324
Al 60,900
QIS 2EHI(SXE ) 51,444 4,217 7,221
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01 Al 221H| 500 4,000
oxgzed
500,000 500
202 O4H| 9,600 23,800
01 ZLHOHI 6,000 23,800
ONEEETY
6,000,000 6,000
04 =Xt bl 3,600 0
ONEZ2 Az
3,600,000 3,600
I sSAEESK 1,300 6,500
201 Let2HH| 1,300 1,300
01 A2 22| 1,300 1,300
Osaas
1,300,000& 1,300
=20l J|xdH 40,000 40,000
= 20,000
Al 20,000
201 Let2AH| 36,000 36,000
= 18,000
Al 18,000
01 At2teldl 36,000 36,000
OHsHELE 29 36,000,000& 36,000
= 18,000
Al 18,000
206 MHE4| 2,000 2,000
= 1,000
Al 1,000
01 MHZHl 2,000 2,000
OHAsHEULE 2,000,000& 2,000
= 1,000
Al 1,000
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PR3 AHBMRARE
£ M =I|=4H
g M SEUEAMY (SH9 H2)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl %E% HwsZ
301 LetENEZ 2,000 2,000 0
= 1,000
Al 1,000
11 HARHIRIE S 2,000 2,000 0
OAsHELE 29 HARHIXEAS
2,000,000& 2,000
= 1,000
Al 1,000
A=Yl JE=Es) = (KIA) 11,250 11,250 0
= 7,500
Al 3,750
308 AHXIHM SO & 11,250 11,250 0
= 7,500
Al 3,750
01 AXIEHELAExS 11,250 11,250 0
Otln=sgel JIxd=sd|lzus(2s)
11,250,000& 11,250
= 7,500
Al 3,750
SHOISSHM WSRIX2(AA) 3,000 18,600 15,600
201 B2 AL| 3,000 14,600 A 11,600
03 A2 | 3,000 10,000 AT7,000
O4HZ 8 e & FEHIIHADR 2
3,000,000& 3,000
L2 018 I8 JIsuE(2Y) 7,300 7,600 2300
= 3,650
Al 3,650
201 Lt 4,600 6,080 21,480
= 2,300
Al 2,300
01 At 22|l 4,600 6,080 1,480
¥ 018 JIE Jlsus 83
4,600,000 4,600
= 2,300
Al 2,300
206 =8l 2,700 1,520 1,180
= 1,350
Al 1,350
01 M=l 2,700 1,520 1,180
O=2/# 0l8 Jt=3 Jl=ns M2
2,700,000& 2,700
= 1,350
Al 1,350
LR 018 I8 Jlzus(XF) 13,275 14,250 VANST)
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P MABHPIRAZ
£ A sEll=dH
g XM SEUSAMY (SH9 H2)
RS - RA - B - SLA(S) - SN - B2 ofl v e RS2
= 8,850
Al 4,425
308 ARISHMSOIE 13,275 14,250 N975
= 8,850
Al 4,425
01 MASNMBLExRS 13,275 14,250 A975
ORI 018 3= n=s (L3
9,000,000 9,000
= 6,000
Al 3,000
ol 018 I3z n=(3)
4,275,000 4,275
= 2,850
Al 1,425
SYHAUNMBII=UR(HE) 22,779 21,517 1,262
101 1A 22,779 21,517 1,262
M IRtHMZZ2S e 22,779 21,517 1,262
Osgus2dXd JItHMZ22 A
22,779,000 22,779
SEY Mot 6,000 50,000 44,000
= 3,000
Al 3,000
sgel tHAd AgHse N 6,000 0 6,000
= 3,000
Al 3,000
201 Zet=E] 6,000 0 6,000
= 3,000
Al 3,000
01 AlR2telHl 6,000 0 6,000
Osgol OHNAd A5 X
6,000,000& 6,000
= 3,000
Al 3,000
SIALEUNFAY 344,240 283,045 61,195
= 19,000
Al 325,240
sHIAHRF(HE) 2,400 1,500 900
= 1,200
Al 1,200
201 Let=Ehl 1,400 1,500 A 100
= 700
Al 700
01 AlR2telHl 1,400 1,500 A 100
OsJ1H et s 24 1,400,000& 1,400
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PR MAIHPRE
F M seIIsHE
8 o sEJUSAE (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
= 700
Al 700
206 MHZHI 1,000 0 1,000
= 500
Al 500
01 =4l 1,000 0 1,000
OsJIH adus 29 1,000,000 1,000
= 500
Al 500
SIAHR=(XIH) 10,140 2,925 7,215
= 7,800
Al 2,340
308 XXM SOl 10,140 2,925 7,215
= 7,800
Al 2,340
01 MXHMBdEx= 10,140 2,925 7,215
Os2INHuF (23 7,800,000 7,800
= 6,000
Al 1,800
Os2dIIHuS(Sd) 2,340,000 2,340
= 1,800
Al 540
im) SAIAXE(HE) 20,000 0 20,000
= 10,000
Al 10,000
405 XHakF S| 20,000 0 20,000
= 10,000
Al 10,000
01 AL =S FH S 20,000 0 20,000
Ousg s¥IIA 7 20,000,000 20,000
= 10,000
Al 10,000
SIH =3 | (HE) 32,000 22,000 10,000
206 MHZHI 32,000 22,000 10,000
01 M=l 32,000 22,000 10,000
O =328 8 & 37
30,000,000 30,000
OsIH =3+2l8& S ARS
2,000,000 2,000
SIIH=CIHI 2 RAS (RE) 116,600 80,600 36,000
201 Let2aY| 600 600 0
01 At 2teltl 600 600 0
OsIIH w2l 28 =23 600,000& 600
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P
g M o= gwa
8 o sEJUSAE (SH9 H2)
RS - LA - HH - G(S]) - NIRAD - BLS ol ke e HImE2
301 LEIEEZ 116,000 80,000 36,000
14 IIEt2 83 116,000 80,000 36,000
OsIlAz=cldl 23l 2X
116,000,000 116,000
sSIH 20 MY 29 163,100 164,320 N1,220
101 21A4H| 45,700 45,620 80
M IRMZZ2NSE S 45,700 45,620 80
OsJIH 2UAY 2 JI2EHZ22XH2Y)
45,700,000& 45,700
201 el 31,400 34,700 23,300
01 At22t2lt] 11,400 11,400 0
OsI1AH SUA 23 11,400,000& 11,400
2 s5=34l 20,000 23,300 13,300
OsJIH UMY AIEEHIRI S
20,000,000& 20,000
301 LEIEEZ 4,000 7,000 13,000
14 JIEI2 4= 4,000 7,000 23,000
Ol s 284 2x
4,000,000& 4,000
401 Al&BIL S THYI 5,000 5,000
01 Al&H| 5,000 5,000
O2UAY SIIH = 5,000,000& 5,000
405 AtatE = 77,000 77,000
01 ML ESFSHI 77,000 77,000
OsJIH UMY 28 ZHI
77,000,000& 77,000
sSENZI|IBEY 1,434,429 2,387,703 N953,274
= 15,000
s 800,000
Al 619,429
SEXNZIIBEL(XIZ) 800,000 1,530,000 A730,000
= 800,000
403 MR SHHMSAH=01H 800,000 1,530,000 A730,000
o 800,000
01 XIS 222 800,000 1,530,000 A730,000
SEXTIIBES (Y3
800,000,000& 800,000
o 800,000
sENE X 568,429 443,703 124,726
= 15,000
Al 553,429
201 el 154,892 145,084 9,808
01 At22t2lt] 79,892 79,084 808
OReldd2el s 14,400,000& 14,400
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P2 AHBHAZ S
£ M s2JlsdH
g M SEUEAMY (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
= 1,600
11 SBAREIXES 1,600 1,600 0
Ostte ASTAES BAz
1,600,000 1,600
= 1,600
sttE ASIAL 2&(XIE) 5,700 4,800 900
= 5,700
308 XXM SOIA 5,700 4,800 900
= 5,700
01 AXEH B EES 5,700 4,800 900
OsdEe ASTAL 24(235})
3,000,000 3,000
= 3,000
Ostte ASTA 24(383)
2,700,000 2,700
= 2,700
K Sats) =3 258X 18,000 18,000 0
= 12,000
Al 6,000
NeEst=s0|s 2SR () 10,000 10,000 0
= 4,000
Al 6,000
101 QI24H] 10,000 10,000 0
= 4,000
Al 6,000
M IRMZZ2HS e 10,000 10,000 0
OXgEat=sg) = 23 A JI2HAl
Z2EIH1E) 10,000,000 10,000
= 4,000
Al 6,000
NeEst=s20|s FEstolEAXIA (XI) 8,000 8,000 0
= 8,000
308 AIXIHHISO0IA 8,000 8,000 0
= 8,000
01 RSN B EES 8,000 8,000 0
OXSst=sole FE2st:AX (48
4,000,000& 4,000
= 4,000
OXSst=sole F2sAX/(38)
4,000,000& 4,000
= 4,000
sSANE Ml =4 33,250 40,950 A7,700
sENEX 24 2,000 9,700 A7,700
307 2Itold 2,000 2,000 0
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414,506

2,000
18,250
4,250
4,250
6,000
6,000
2,000
2,000
6,000
6,000
13,000
4,000
4,000
2,000
2,000

dEc
Ofl xt ol

3,000
3,000
4,000
4,000
802,327

166,300

2,000
2,000
18,250
4,250
4,250
4,250
6,000
6,000
6,000
2,000
2,000
2,000
6,000
6,000
2,000
4,000
13,000
4,000
4,000
4,000

2,000
2,000

Off &H2h

2,000
3,000
3,000
3,000
4,000
4,000
4,000

1,216,833

166,300

o
[uind

2|

e

2,000,000&
6,000,000&
2,000,000
2,000,000&
4,000,000&
4,000,000

* HRAY - BES
4,250,000
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ST
Al S
S
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01 AlR2r2IH]
01 M=l

| S4

01 At22teld|
01 M=l

O
O

=

307 212+01™

206 =4I
206 =4I

At THZH]

0
ak

0

2,000,000&
3,000,000&
4,000,000&

307 212+01™

4H

KD

1,000
1,000
165,300
165,300

1,000
1,000
1,000

165,300
165,300

1,000,000&
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A3 AAHHES
= =S=PIEIE
3 SELSAME (el ®9)
&3] - 2H - & - S2(3) - HIRAEY - BLES Ol &by %Eg‘% Hns2
ODEZ M MA AXHE Al
22,500,000 22,500
OCEsE H M2A5 AlY
10,800,000& 10,800
OtlAS &2 84 A™ 12,000,000 12,000
OAIZ20] LMHTHE Al
36,000,000 36,000
OAER0 FMA Al
36,000,000 36,000
OB NSat2al 84X Al
48,000,000 48,000
SIS (XIY) 816,860 548,130 268,730
403 XIS SK=01™ 816,860 548,130 268,730
01 XIXISH A 2E = 816,860 548,130 268,730
OIS THHH Mgt AlE (23
42,000,000 42,000
Ol MAS X2 |4 Alg(23l)
30,000,000 30,000
ODAS AL Sax= |4 X(23)
320,000,000 320,000
OXGASE= Z& D35 A (Y3}
300,000,000 300,000
OAlZxE 245 Al (23
109,200,000 109,200
O=gg &2 g8 Na(Zsh
9,000,000 9,000
O MITHHY ROILE S2AIH(2A)
4,500,000 4,500
OHIZ HZE B MHiD = Al (2R)
2,160,000 2,160
ADIESY AM 29 233,673 87,897 145,776
101 QIAH| 206,673 72,897 133,776
04 I 22 ASE S 206,673 72,897 133,776
OADIESYAIE 29 JI2HH 18
206,673,000 206,673
201 LBt2HY| 7,000 5,000 2,000
01 Al22t2|H] 7,000 5,000 2,000
OADIESYAIE 29 7,000,000 7,000
206 THZHI 20,000 10,000 10,000
01 M2l 20,000 10,000 10,000
OADIESYAIE 22
20,000,000 20,000
SA=E JXI &4 116,423 107,676 8,747
NSNS 435t 116,423 107,676 8,747
101 QIAH| 31,023 32,676 1,653
M IRN22IsSES 31,023 3,676 1,653
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0

0 4 H0

a
0
rh
10

/s - LA - B G(S]) - NIRAY - BLS ofl v e RS2
OdS=2=Hgusa 24 X
22,780,000& 22,780
O=sgs=ad 88 X
8,242,200 8,243
201 fer=3| 50,400 48,000 2,400
01 At22t2l] 35,000 23,000 12,000
OAIN=d 29 8,000,000 8,000
OonszZzly 2% 15,000,0008! 15,000
Ozzzc 88 5328
12,000,000 12,000
03 A= SHI 15,400 25,000 29,600
OTAl - &AL BF 15,400,000& 15,400
206 M=Hl 28,000 20,000 8,000
01 MHZH| 28,000 20,000 8,000
OAN=Y 29 2,000,000& 2,000
Ousoz)d 23 15,000,000& 15,000
OTAl - AL 2 3,000,000 3,000
ORZRE 28 sZ23
8,000,000 8,000
401 AlEHIZL S0 7,000 7,000
04 A2 S AIEH] 7,000 7,000
OHAl - AL 2E 7,000,000 7,000
CAsEXdE =29 168,000 312,631 N 154,631
CAlsE JIBAE 28 13,000 147,631 134,631
201 er23| 3,000 5,000 /2,000
01 AtR2t2|HI 3,000 5,000 A2,000
OFAlsg JIgAI&
3,000,000& 3,000
206 M=l 10,000 20,000 10,000
01 MHZHI 10,000 20,000 10,000
OEAlsg JIEHAIE
10,000,000& 10,000
ANsg Jl=k& 120,000 140,000 220,000
201 er2&| 15,000 30,000 A15,000
01 Al2telsl 15,000 30,000 /15,000
OIS 22 5,000,000& 5,000
Oy ZAIRE X 10,000,000& 10,000
206 M=l 105,000 110,000 /5,000
01 M= HI 105,000 110,000 A5,000
O 25 95,000,000 95,000
ORTH SASE =4 10,000,000 10,000
CAls JI=XA(XE) 25,000 25,000
308 AXIMSOIA 25,000 25,000 0
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P2 AHBHAZ S
£ M s2JlsdH
F A sEIEMY (SH2l &)
A3 - FA - ZFH - SA(BH) - MRAY - BES Off &H2h %E&. Husz
206 M=Hl 14,400 14,400
01 XHZHI 14,400 14,400
Oxr=sg dE204 84 28l
4,800,000 4,800
O Algle] 81t OtSS 2d=otle AIRsY
T2 AEME 9,600,000 9,600
#Y 2L 3,056,674 2,906,343 150,331
ol (sIIsHH) 2,783,374 2,640,801 142,573
oA 2,783,374 2,640,801 142,573
101 @124H| 2,654,647 2,523,972 130,675
01 2 2,365,127 2,226,158 128,969
OJlzs 1,709,255
oXEa 8,744,334 A5 * 128 524,661
oXE2(S2H=)
8,744,334« 1L +6- 52,467
o X ZAt 3,086,600 x4+ 122 883,941
obg 4,183,500 1&«12& 50,202
o723 3,216,400 x5 * 128 192,984
od2=g 94,345
o X ZAt 3,086,600 x24% 74,079
°63 4,183,500@1 14 4,184
o728 3,216,4002 x5 16,082
OZ2<otat 18,840
o254 0l4t 130,0002 * 1 * 122 1,560
o204 0l&h 254 0|2t
110,0008 x2 * 128 2,640
o15d 04 204 01gt
80,0002 6% * 12 5,760
=10 0l& 154 Olgt
60,0003 x4 * 122 2,880
o5 0l4h 108 0]2t
50,0002 10 * 122 6.000
OIE+e 23,280
SLL BN 40,0003 x20E 123 9,600
oXHEL 20,0002 ¥ 10 * 122 2,400
SR 30,0002 10 * 122 3.600
== MAHA 70,0002 6+ 122 5,040
oAU XA 110,0002 2% * 12& 2,640
Ootie=+¢ 13,668
o X EAt 3,086,600 x9L * 122 +4. 1% 13,668
OS+ge=g 28,440
S 1=Eg=, 18,480
EPNJE=T, 60,0003 *5&* 123 3,600
- KIS A 50,000 *23% * 122 13,800
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IS MABHPKS
2 A s2|=HE
N M ANRIAH (S AR
RZ - RA - - S2(FH) - NIRAY - BLES Off AboH %}E&H Hns2
= 30,0002 x3% 122 1,080
SI|EFHELHINZ 9,960
- DA 30,0002 262 » 122 9,360
- MDA 20,0002 x2% + 12¢ 480
-23d 10,0002 x 1«12 120
Oxn=2e44 150,675
o633 12,5312« 137 Al 2+ 128 5,564
o783 11,319 x5 *37 A 2+ 128 25,129
oXIEX(21520/4))
11,8162 %62 +37A| 2+ 128 31,478
o XIEX (205 20|5t)
11,0742 %1837 Al 2t% 128 88,504
Osotsx2g 1,500,000« » 12& 36,000
OFUZAH| 140,000 «342 x 128 57,120
OYESII 113,215
o633 5,020,200 1% 5,021
o753 3,859,680 x5 19,299
o XIZ A 3,703,920 «24H 88,895
OS2 AtH| 18,789
oXlE& 1,052,81821x52%13] 5,265
Sy, 442, 4132 %24 B %13 10,618
o633 599,635 x1%*13] 600
o783 461,017 x5 *13] 2,306
O=EQ¥ILY 100,000 x5 * 128 6,000
OXZLEZH| 85,500
o4z 400,000 1 *12& 4,800
42 (B2AS) 400,000 1 H+62 2,400
ohg 250,000 x4 * 128 12,000
o632, XISTA 185,000 x252 x 122 55,500
o732 180,000 x5 * 128 10,800
03 BRE(RI|H ) 2224 299,520 297,814 1,706
oMII=S=, 2,321, 750262« 12¢ 167,166
OAlIZtQI =& 20,4682 x30AI 262 * 128 44,211
OsYz2esg
20,4682 +8A| 2+ 62+ 122 11,790
OS2 AtH| 13,6452 +8A| 2H+6T 152 9,825
OFUZAH| 140,000 6% * 122 10,080
OHESII 2,786, 1002 «6% 18,717
(@FsP=X=; 2,321, 75026 13,931
O™ 24t 60,0002 x6 % * 122 4,320
os44 6,240
SHi 40,0002 «32 * 128 1,440
o &=L 20,0002 x3H 122 720
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P MABHPIRAZ
£ A sEll=dH
8 X dydE2g3| EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
o RMAHA 30,0002 x3& 123 1,080
o ESMAHA 70,0008 x2& x 123 1,680
SO DNIE 110,000& 18 =123 1,320
o224l 70,0008 3 *12& 2,520
O==H| 120,0002x3E *12& 4,320
Oflg=g 140,0002 x5 x12& 8,400
4 ASREESS 128,727 116,829 11,898
2 RUABESEHS 94,866 84,353 10,513
O=2AAEs= 94,866
cHALERES
2,368,795,000& *3.55% 84,093
o RAYFES 84,003,0002*12.81% 10,773
M SRH(RINAHA) 22N 2RSS S 33,861 32,476 1,385
OSRA(RINHA)22X BESFES S 33,861
cAUEEHTES 299,518, 1002 *3.55% 10,633
oHIRAFES 10,618,000& *12.81% 1,361
St B es] 299,518,100& *1.8% 5,392
o MATHEES 299,518, 100& * 1% 2,9%
o=xUASFES 299,518, 1002 *4. 5% 13,479
J2ZH(s8II=HdH) 273,300 265,542 7,758
2A2aH| 273,300 265,542 7,798
201 Let2d| 192,300 150,372 41,928
01 AlR2telHl 31,620 30,372 1,248
Ogit==H| 11,760
oREN2EHIE 9,240,000 9,240
cZSHSEAHI(S2A) 120,000 120
oA getE =g 2,400,000 2,400
Oo=2g8=+¢ 600
SIIZtNZ22X HE 600,000& 600
O=gtl 11,520,000 11,520
Oul=H| 600
oHP=(SRAH) 300,000& 300
o HMBHSRH) 300,000& 300
OgAbI(LAHl) 7,140,000& 7,140
2 55234l 160,680 120,000 40,680
Os&2= £ MA 160,680,000 160,680
202 04l 40,080 74,250 N34, 170
01 2oL 40,080 23,850 16,230
O=LHoitl 40,080
oZHEF 0] 31,080,000& 31,080
o2 EF0I 9,000,000 9,000
203 HR=AH] 13,920 13,920 0
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=

E 0 & AHE E A A

202435 Z0ilaE LB MAB MRS
PR MAIHPR
£ N AHHSAAMNE A
g M odlisH2e (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
QIS RAAE A 23,140,937 24,543,784 1,402,847
= 11,000
Al 23,129,937
CIEisA2e 10,608,403 10,546,502 61,901
IMUSE 29 10,608,403 10,546,502 61,901
33 xF2el 909,876 990,826 80,950
[ elal:] 441,276 431,226 10,050
M IRINZ22RSE+ 441,276 431,226 10,050
OQIMUSE =X 22/(138) & SHHS
22(3g) 441,276,000 441,276
201 Ler2aY| 18,000 18,000
01 At 2teltl 9,000 9,000
oYXz (&I, AME &) 6,000,000 6,000
Odgt=gH(zZ 2l AU S)
3,000,000 3,000
R =23l 9,000 9,000 0
O=Xt #Hl |X2el| 8,000,000 8,000
Otr=3t| 72l 1,000,000 1,000
208 gF Al 3,600 3,600
03 A= H P2 3,600 3,600
Osd 2g2e| d2FH 3,600,000 3,600
206 MHZHI 47,000 47,000
01 M=ZHl 47,000 47,000
O=Xth 2tel 45,000,000 45,000
Ossxgss7Y 1,000,000 1,000
Otr=25tEH|1 7Y 1,000,000 1,000
401 AlZHIL 2 CHY] 400,000 400,000
01 AlZHI 400,000 400,000
Olisd =8 FRZ2ISA
400,000,000 400,000
S=@ 2g2e 380,774 278,633 102,141
101 Q144 232,474 133,188 9,286
M IRINZ2RSE+ 232,474 133,188 99,286
oolglols=d 2el(538)
182,910,000& 182,910
OgliA=0IH 2el(1) 24,782,000 24,782
OsSa&A(1g) 24,782,000 24,782
201 LetEaY| 32,800 32,945 A145
01 Ak 2teltl 2,700 2,700 0
OgutgH|(SHm & E88)
2,700,000 2,700
2 s==3tl 30,100 30,245 A145
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PR MAIHPR
£ N AHHSAAMNE A
g M odlisH2e (Gt H2)
RS - LA - HH - G(S]) - NIRAD - BLS ol ke e HImE2
Os=d AME&Ul Sl
10,000,000 10,000
Os=% g3l 6,000,000 6,000
O3 sl 9,600,000 9,600
OssdzY] 4,500,000 4,500
206 M=Hl 112,000 112,000
01 M=l 112,000 112,000
O=2¢ ¢ TF/A 2E2
107,000,000& 107,000
Oolgltls= s stsu+ 7
5,000,000 5,000
405 XhakF SH| 3,500 500 3,000
01 MM =SFSHI 3,000 0 3,000
Os2¥ 2218l 7 3,000,000 3,000
02 =Nl 500 500 0
Os=¥ 23 AFY 500,000 500
ANERX e 2,682,707 4,921,643 12,238,936
101 1A 182,179 179,544 2,635
M M2 RS2+ 182,179 179,544 2,635
OIZHMZ22THFH AL Z) (1)
28,759,000 28,759
OJIZENIZ22XH (Al 2te]) (68)
137,117,000& 137,117
OlS¥ FHRZ2ASAH2Y)
16,303,000& 16,303
201 LetE gy 874,100 824,100 50,000
02 33234l 874,100 824,100 50,000
OU3&H A4 FHISA
74,100,000 74,100
Olisd 3322 & MAl
570,000,000 570,000
Olisd Fo1d8Hl AEZ
15,000,000& 15,000
O¥=d e FANE+ FAEE
200,000,000 200,000
OmoIExeltl 15,000,000 15,000
206 M=Hl 48,000 48,000
01 M=l 48,000 48,000
OUS Algg 2 36,000,000 36,000
OUSH MAIISEH S5
12,000,000& 12,000
308 ARISMSOIE 1,025,874 1,016,534 9,340
18 SO 2SS & AS A I 1,025,874 1,016,534 9,340
Olsd stz 1,025,874,0002 1,025,874
401 AlZHIL 2 0HY] 552,554 2,853,465 2,300,911
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k= LA B NP E
= QXS A A
g otz 2tel 9 M)
|215) - A - HE - B9I(B) - NIRAY - PR of e e 52
01 Al 550,000 2,850,000 300,000
Otz# S =z
At 50,000,000& 50,000
olsd 243 500,000
o=
100,000,000& 100,000
olisd =
200,000,000& 200,000
oz E(
200,000,000 200,000
03 A& S CHYI 2,554 3,465 2911
OAIZ 20HHI 2,554,000 2,554
2HAIE 2e| 563,000 113,000 450,000
201 er23 | 13,000 13,000 0
01 At2t2ltl 13,000 13,000 0
OZdgite+= 13,000,000 13,000
401 AlEHIZ S 0HbI 550,000 100,000 450,000
01 AlZH| 550,000 100,000 450,000
OgUAIE=
150,000,000 150,000
OLIMUHBE FAR= FLAAHE HESA
400,000,000 400,000
=3 22 1,756,160 1,514,072 242,088
101 @124H| 354,500 345,534 8,966
04 JIZtHIZ2 2 X 354,500 345,534 8,966
Ox==& !X 274,618,000& 274,618
O XIS X S AH3YH 79,882,000& 79,882
201 et 3| 84,800 84,800
01 AtR2t2|H] 19,800 19,800
OZE=HH 9,800,000& 9,800
Oget=ZHI 5,000,000& 5,000
O&HIZ Rz 5,000,000& 5,000
02 S3=4gl 65,000 65,000 0
O==a, &k
40,000,000 40,000
O==a, 58Xl
25,000,000& 25,000
206 =4l 100,000 100,000
01 MHZH| 100,000 100,000
O==2,&8A3 22 7
80,000,000& 80,000
OtHERIREZ]
15,000,000& 15,000
OALR HA
5,000,000& 5,000
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P MABHPAZ
£ M UEUBRAIE A
g M QB2 EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
308 XXM SOl 58,960 59,017 N57
18 SO 2ASHUSHE SN AE ALY 58,960 59,017 N57
O===g A2 &3 2
58,960,000 58,960
401 AlEHIL 20| 1,131,000 853,300 277,700
01 Al&HI 1,130,000 850,000 280,000
== FAIZHIH| 180,000, 000& 180,000
OsXI& 2cISAt 150,000, 000& 150,000
O==g |22l A 300,000,000& 300,000
O==g RYME ZdA
500,000,000 500,000
03 Al 20HHI 1,000 3,300 A2,300
OAIE =08l 1,000,000& 1,000
405 THaHE S| 26,900 71,421 N44,521
01 MM =SFSHI 26,400 70,921 N44,521
O==2 2dac 2374
26,400,000 26,400
02 =A=THI 500 500 0
O3RN 7 500,000 500
302 =24 200,330 200,553 N223
201 ZBt=Eh] 22,200 22,200 0
01 AlR2telHl 7,200 7,200 0
Ogit=2H| 7,200,000& 7,200
2 s3234| 15,000 15,000 0
OAIZEHl FXIt] 15,000,000& 15,000
206 M=Hl 12,000 12,000
01 M=Hl 12,000 12,000
Ogd0lcH2 st Z203 29 MHat|
12,000,000& 12,000
308 ARISHMSOIH 113,130 112,223 907
13 SO 2 SOUEHE &4 X 2AS A 113,130 112,223 07
OgZ30le2 gZzel 113, 130,000& 113,130
401 AIEHIZL 20| 53,000 53,000
01 Al&ZHI 53,000 53,000
Oet3 0l +=AlZHIY| 53,000,000& 53,000
ShHestMsd=d 248,161 242,866 5,2%
201 Let=E] 70,000 69,008 992
01 Al2telsl 20,000 20,000 0
Ooget+=24| 20,000,000 20,000
2 55234l 50,000 49,008 992
O332= € MA(AIIeS S)
25,000,000& 25,000
OAIZ EHIS XY 25,000,000 25,000
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P2 AHBHAZ S
£ M QUEUSIAAI A
g IEsE 2 EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
206 =8I 65,000 60,000 5,000
01 THZ2HI 65,000 60,000 5,000
O=NZSHEE 2 MEHI(EMW S)
65,000,000 65,000
308 XXM SOIA 113, 161 113,858 2697
13 SI[2SOHE B & EAS A 113,161 113,858 2697
OSNHEaHsE sZael
113,161,000 113,161
SE0ISAH HAMS 1,917,3% 1,934,909 A17,514
201 el 69,800 48,600 21,200
01 At22t2lt] 19,800 24,600 24,800
Ogdbt+gH|(B2 EES ME, =22 &)
7,800,000& 7,800
OF=D| itz 12,000, 000& 12,000
2 35224l 50,000 24,000 26,000
OFXE RUFLAIAE S L RS
all 50,000,000& 50,000
301 LELEN S 2,000 2,000
14 JIEt2 =3 2,000 2,000
O3EANE0E2H Xz S 2,000,000 2,000
308 AHXIEMSOIE 1,845,595 1,884,309 A38,714
18 SIS0t HAS A 1,845,595 1,834,309 N3B,714
OAESH ASUHAS(FHE, HEAH S)
1,845,595,000& 1,845,595
AAE BOHE AlE HEARS 1,750,000 150,000 1,600,000
401 AlZBIL S THYI 1,750,000 150,000 1,600,000
01 AlZHI 1,750,000 150,000 1,600,000
OAHHIE HOHE AIE JHEAY
1,750,000,000& 1,750,000
SE0IE 243t 200,000 200,000 0
201 er23| 200,000 200,000
03 A= SHI 200,000 200,000
OClEUEa HEZ=AH 200,000,000& 200,000
332 5,337,730 6,716,533 1,378,803
= 11,000
Al 5,326,730
SHASH2Y 5,337,730 6,716,533 1,378,803
= 11,000
Al 5,326,730
AEsXI2e] 4,892,766 5,912,781 ~1,020,015
= 11,000
Al 4,881,766
101 QI2H| 743,132 512,364 230,768
M IRMZZ2XNSE S 743,132 512,364 230,768
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23 ARLFTR3
2 OA: QIFRAAIG A
8 o HYESEHI (Gt H2)
LRS- A - FH - S2(3) - HIRAY - BHES Ol &beH ﬁgg‘% Hns2
AN SAFH| 7,194,804 7,280,749 85,945
QA2 HH|(QIMHBRAI A) 6,756,450 6,882,910 126,460
ol 2| 6,756,450 6,882,910 A126,460
101 Q14| 6,431,904 6,578,364 146,460
01 B2 3,372,979 3,591,595 N218,616
o=z 2,261,407
o432 105,600,0002 105,600
o532 432,000,000 432,000
o632 753,030,000 753,030
o723 646,713,600 646,714
o83 151,978,0002 151,978
o IA 172,085,000 172,085
o3z 137,320
o632 62,753,000 62,753
o723 53,893,000 53,893
=832 6,333,000 6,333
oA 14,341,000 14,341
@) ==L 35,640
oHI X 17,280,000 17,280
o XA EHIS 9,000,000& 9,000
S IE 6,720,000 6,720
S DE 2,640,000 2,640
OF2LY(FIH) 2 48,000
o254 0] 23,400,000 23,400
o204 ~254 0gt 10,560,000 10,560
o154 ~ 20 0|k 6,720,000 6,720
o104 ~ 154 0gk 4,320,000 4,320
o5 ~ 104 DIgt 3,000,000 3,000
O|0tEE+Y 72,000,000 72,000
ORgz2=g 1,680
o2E 1,200,000 1,200
oY ZE 480,000 480
ounse 56,479
o423 3,310,000 3,310
o523 14,526,000 14,52
o632 16,466,000 16,466
ors 16,572,0002 16,572
SR 3,528,000 3,528
=82 2,077,000 2,077
S+ 27,840
olIEHELY 14,880
53 3,000,000 3,000
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A3 AAPHIARE
2N QIEHZAIAA
8 o HYESEHI (Che 2l
RZ - RA - - S2(FH) - NIRAY - BLES Ol {hHH ﬁgg‘% Hns2
62 ~73 6,840,000 6,840
82 015t 1,200,000 1,200
A PAL 3,840,000 3,840
EPIEE=1=EA= ¥ =] 9,960
IN=] 3,240,000 3,240
pINE= 720,0002 720
=23 6,000,000& 6,000
coBAUPLL 3,000,000 3,000
@I=1=-Ea= 1,200,000 1,200
@ESn === 252,642
o532 43,195,000 43,19
o632 78,946,000 78,946
o723 76,064,000 76,064
=82 34,145,000 34,145
o ARAL 20,292,000 20,292
OFHZAY| 80,640,000 80,640
OYESIHI 180,466
o632 75,303,000 75,303
o73 72,756,000 72,7%
o8= 15,198,000 15,198
o ARAb 17,209,000 17,209
Ot 4] 53,745
o423 1,968,000 1,968
o532 8,669,000 8,669
obs 17,988,0002 17,988
o723 17,379,0002 17,379
=832 3,630,000 3,630
o ARAL 4,111,000 4,111
O=ZExH| 163,920
o423 9,600,000 9,600
oh3 24,000,000 24,000
o632 33,300,000 33,300
o723 38,880,000 38,880
=892 16,800,000 16,800
o ARAb 8,880,000 8,880
oXHAAE 30,240,000 30,240
o UBrAI|H| 2,220,000 2,220
02 JIEt=IE 4 1,131,929 1,093,041 38,883
os2 710,434
oHAZE 646,834,000 646,834
o BRI R 63,600,000 63,600
@F=F=Ea=] 53,903,000 53,908
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0

0 4 H0

8- SA - BB O9I(S]) - NISAR - BAS ofl b e s2t

OE=< 16,560
=1 EON; 5,280,000 5,280
SEYPIE 3,600,000& 3,600
oc=MAH 5,040,000& 5,040
S0 PE 2,640,000& 2,640
OYGE St 64,684,000 64,684
(@FSELF= ] 25,200,000 25,200
(OF2E=PAES= 3,840
oUtE 960,000& 960
oX & 2,880,000& 2,880
OFHZ=Z(FIH =2 16,440
=254 0f&t 7,800,000 7,800
o204 ~254 0]2t 3,960,000& 3,960
o154 ~204 0I2t 1,920,000& 1,920
o108 ~154 0J2t 2,160,000& 2,160
obEH ~10E 0|gt 600,000& 600
OIS 191,29
o AlIZt2lY 138,264
HRZ3FE 133,233,000& 133,233

- LUHADIHI 5,026,000 5,026
oORI2EsY 53,035
HAZE 53,035,000& 53,035
(@ME=3=0=: 1= 23,000,000 23,000
OHIHE aM| 26,269,000 26,269
OHMIS A 300,000 300

03 SRA(RINHS) 22X 2+ 1,926,99%6 1,893,728

OJ22(4Y) 983,015,000 983,015
OJEsY 22,920
=1 EON; 12,000,000& 12,000
SEPE 5,400,000 5,400
o =M At 4,200,000 4,200
S0 PE 1,320,000& 1,320
o=z 233,980,000& 233,980
OFgzZR=g 277,310,000 277,310
(@FSELF= ] 57,120,000 57,120
O E SOt 98,302,000 98,302
oyz2+e 81,918,000& 81,918
Os &=zl 20,160,000 20,160
ORgse 35,280,000 35,280
O==t| 34,560,000 34,560
O MY 5,400,000& 5,400
OHIHE &M 77,031,000& 77,031
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g Al A

PR MAIHPR
2 M 20IBEAMEA
8 I MRsEES2A (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
HOISAAE 2 8,533,997 9,367,286 1833,289
= 22,000
Al 8,511,997
MEERAEZ 2 5,494,940 6,334,927 839,987
= 22,000
Al 5,472,940
H0ISA=2E 3,190,324 3,629,231 A438,907
ANEFI 22 2,862,854 3,073,780 A210,926
[ elal] 515,400 666,371 150,971
M IRINZZ2NSE+ 515,400 666,371 150,971
OE0ISd ANES & =X22/(19)
515,400,000 515,400
201 Ler2aY| 363,645 346,005 17,640
01 At22tell 4,570 4,570 0
ORI n=H] 440,0002 440
OYxtz(58HIS &1 3,330,000 3,330
OHE =gOIIMIZEX MHE Al) S
800,000& 800
2 s==3tl 359,075 341,435 17,640
Od = 3,000,000 3,000
OAl2 3l FAl2elyl 18,000,000& 18,000
OsZJl 88 o™ 22|
5,400,000 5,400
OZESaEHl =A&el 84
4,135,000 4,135
O2eXelAE S22/l
6,000,000 6,000
O&I|erd el Xt 3] 100, 0002 100
OAgordate| Xt o3 100,000& 100
Oztad otz & =293 22
6,500,000 6,500
OMNAANE FHIZM =22
100, 000 100
OL—AlE FA2e E9 4,200,000 4,200
OZ0IsE S &Il HHAEHY|
4,500,000 4,500
OS2ty HIdE 222 89
5,000,000 5,000
O332= € MAl 302,040
cgllsd M= 194,040,000& 194,040
oxER3 108,000,000& 108,000
206 MHZHI 59,910 59,910
01 =4l 59,910 59,910
O=X&elg 45 Mg 7L
20,500,000 20,500
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P MABHPAZ
2 N FOZRARA
8 I MRsEES2A (Gt H2)
i : 5 IE =
ARE| - A - B - S2A(SH) - HISA - BAS ofl &ty e HIRSZ
OZAE & BEIMZ(RIE, HHEARZ) 7Y
5,000,000& 5,000
OANldE sAl2d Mz 7
30,000,000 30,000
OMeD| SEH S5 7L
4,410,000 4,410
308 XXM SO0l 727,019 727,894 A875
18 SIS0t 4 A AS A 727,019 727 ,8%4 A875
OZ0Isd & A at& 2
727,019,000& 727,019
401 AlZHIZ S OHYI 1,152,880 1,273,600 A120,720
01 A28l 1,150,000 1,270,000 120,000
OZ0I=A & & A HEAE
500,000,000 500,000
OZ0ISY =& ZelSAt
150,000,000& 150,000
Olizd dSHE=S B+ SA
100,000,000 100,000
O=Al &€ s3AN&= FAE+ =AlZHIbI
400,000,000 400,000
03 Al 20HHI 2,880 3,600 NT20
O=l & SEANE=E FAE+ =AEH Al
2204 2,880,000 2,880
405 KHoHF S| 44,000 44,000
01 ML ESFSHI 44,000 44,000
OZlIsd 28 HIIPIE 7Y
44,000,000 44,000
s2Eg 327,470 555,451 A227,981
101 e124d| 194,850 228,376 A33,526
M ORNZZ2NSE S 194,850 228,376 A33,526
OTIIHSIt 28 (298) 60,212,000 60,212
O3&ZHI(3%) 134,638,000 134,638
201 Zet=Eh] 128,200 143,200 15,000
01 At2teltl 30,000 30,000 0
OXSHAXT & OISt 225 +
= 10,000,000 10,000
O30/t EXIE JH|
4,000,000 4,000
Os2= MN(EH) NH
6,000,000& 6,000
Os2E =3 7¢ 8,000,000 8,000
Osd W HE g2 500,000 500
OZ& W Il extz 1,500,000& 1,500
2 s3=234l 38,200 45,200 A7,000
OTIIHEI Xl (+=HH], 2&0tY)
15,000,000& 15,000
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PR MAIHPR
2 M 20IBEAMEA
8 I MRsEES2A (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Od0I7E AMEE |2/l
2,400,000 2,400
O3823 3323 ¥ MAI(RLAHl, A
, =2, H3es S) 11,000,000& 11,000
ObrotME A 22| 28
9,800,000 9,800
03 ALZSHI 60,000 68,000 8,000
OS2 MSAL & J=Z2 Y 29
60,000,000 60,000
203 =] 3,600 3,600
03 AIHF=EE =AY 3,600 3,600
O=d =4 € 28 22| g4
3,600,000 3,600
406 XHAH SHI 820 183,200 182,380
01 At =S FH S 820 183,200 182,380
O2AM1 M&21 7Y 820,000& 820
A—I‘:'X)I‘E%%%%%EI(—EQ’ 30,85 38,35, 69, 2F&3 2,304,616 2,705,696 401,080
s
= 22,000
Al 2,282,616
NEXNSsEEY 2,304,616 2,205,696 98,920
= 22,000
Al 2,282,616
101 21214 651,052 746,454 A95,402
M IRINZ22RSE+ 651,052 746,454 195,402
ONRRNASH ANEE & =sX2el(4F)
651,052,000 651,052
201 Ler2aY| 126,450 109,650 16,800
01 Ab2teltl 6,850 6,850 0
Oz 2e|xtg Lxt 2,400,000 2,400
Ozaael s+ 2,000,000 2,000
Od=J| &= 1,650,000 1,650
OJIZtNZ22 X HE2d ¢
800,000& 800
2 55234l 119,600 102,800 16,800
OAl23HIF = 3,000,000 3,000
OAIZEHIS A 10,000,000& 10,000
O332= € MAl 90,000,000 90,000
O32sEd ¥Z2RA(Zatx,243)
3,800,000 3,800
O35 A= &4 & =2
12,000,000& 12,000
OO0EI0I=0IAIE FIIZIA 800,000 800
206 MHZHI 48,820 48,820
01 M=l 48,820 48,820
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<l MAB R 2
g OISR A
g NESA=Z2el EER=E)
3| - 2N - B - 2(Z]) - HRAY - BES Oil &k %-:LS}Q,E" HwsZ
OZ3&ze| == 2 =z 19,500,000 19,500
OAlg2te| B4XHH 25,000,000& 25,000
OSENSE 4,320,000 4,320
308 AXIEHMSOIN 233,569 229,244 4,325
13 SISO E AR PE A 233,569 229,244 4,325
OMEXYSH Pz
233,569,000& 233,569
401 AlEBIZ 200 1,106,725 1,068,528 38,197
01 Al&Hl 1,102,000 1,065,000 37,000
ONMEXNAZE ANEE =AEHI
750,000,000& 750,000
OEg=d Z2el(ix,d)
100,000,000 100,000
OF0ISH ZF&e(M=,8F)
82,000,000 82,000
O2F=3¥ TFd2el(0l=, M=)
100,000,000& 100,000
OMEXSEZA Holls 2l
70,000,000 70,000
03 AIE =2 CHHI 4,725 3,528 1,197
ONEXNAZE AlES +AIZH|
4,725,000 4,725
405 XHAHE SHI 138,000 3,000 135,000
= 22,000
Al 116,000
01 IR =S FSHI 138,000 3,000 135,000
Os&d&cEs JIAEsI 3,000,000& 3,000
O=3&2E X+ 135,000,000& 135,000
= 22,000
Al 113,000
HE2IZH| 3,089,057 3,082,359 6,698
OIA2HH|(E0ISAAMNE L) 2,895,857 2,876,432 19,425
QIR AY| 2,895,857 2,876,432 19,425
101 @I24H| 2,644,660 2,683,573 A38,913
01 B2 1,512,3% 1,605,479 A93,085
OJdl=s 1,051,028
Sl 96,030,000 96,030
obs 237,537,000& 237,537
SO 150,606,000& 150,606
78 540,356,000& 540,356
=85 26,499,000 26,499
OFzs4 58,686
Sl= 12,551,000& 12,551
7S 45,030,0002 45,030
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A3 AAPHIARE
2 A HOIBASA
8 X dydE2g3| EEREE
RZ - RA - - S2(FH) - NIRAY - BLES Ol {hHH ﬁgg‘% Huns2

o832 1,105,000 1,105
OF24EHa3 11,640
o251 0] & 3,120,000 3,120
o20~25 0| 8 1,320,000 1,320
©15~20E 0] 8t 1,920,000 1,920
©10~15= 012 2,880,000 2,880
o510 0|2t 2,400,000 2,400
ONELY 22,320
SY SN 8,640,000 8,640
oZH|% 4,320,000 4,320
S DE 5,760,000 5,760
oA XHA 3,600,000 3,600
ounseg 40,670
o423 3,072,000 3,072
o532 8,181,000 8,181
o632 6,175,000 6,175
o723 22,155,000 22,155
=832 1,087,000 1,087
Oga22+y 1,200,000 1,200
OS+YR4g 15,960
ollEFELY 10,800
53 1,200,000 1,200
-672 3,240,000 3,240
- 820I5t 960,000 960
PN 5,400,000 5,400
CEQRXRZ 2L 3,600,000 3,600
oH|A2R4E 1,560,000 1,560
@ESn === 111,133
o5 19,570,000 19,570
obs 16,692,0002 16,692
o723 70,359,000 70,359
=82 4,512,000 4,512
O|0tgE+Y 18,000,000 18,000
OFMZAY| 36,960,000 36,960
OYEEIMI 71,747
o632 15,061,000 15,061
o723 54,036,000 54,036
o832 2,650,000 2,650
Ot At 11,850
o423 895,0002 8%
oh3 2,384,000 2,384
o632 1,799,000 1,79

- 179 -




k= LI MR
= OIS3ArH A
x 2o A H| ceEel
|215) - A - HE - B9I(B) - NIRAY - PR of e e s
org 6,455,000 6,455
=85 317,000 317
O&ZExH| 61,200
odg 4,800,000 4,800
obg 9,000,000& 9,000
o6z 6.,660,000& 6,660
o7s 30,240,000 30,240
o885 2,100,000& 2,100
oFAHE 8,400,000 8,400
02 JIEtM = 316,120 304,003
OJlZ=s 198,274
oS3 (4%) 198,274,000 198,274
OEse 5,040
SLUEDN 1,920,000& 1,920
o&EHlE 960,000 960
o= M 2,160,000 2,160
248 s 6,240
o250 & 6,240,000 6,240
o=zl 38,068,000 38,068
od2=+¢ 16,523,000& 16,523
OZ=Tt==g(BHd) 720,000& 720
OoRt2RE 15,153,000& 15,153
OF A SAMH| 6,720,000 6.720
OE &=l 19,828,000 19,828
OYIt2 4| 9,474,000& 9,474
OXMS&AtYI 80,0002 80
03 SRA(RIH )22 U2+ 816,146 774,091
OJlzs 405,292
o185 =(13%) 405,292,000 405,292
OgESItd| 40,530,000& 40,530
ORg+g 15,120,000 15,120
Oy = 2| 7,560,000 7,560
OZ A ZAH| 21,840,000 21,840
O==4| 12,960,000 12,960
OMH¥g 2,400,000 2,400
OIE+e 9,360
S BN, 5,280,000 5,280
oZEH|& 1,440,000& 1,440
o= MAH 1,440,000 1,440
© NITH RS 1,200,000 1,200
Ox=uI2R=E 116,785,000 116,785
O ] 124,571,000& 124,571
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H £ O & A &

g Al A

P MABHPIAZ
T HSSAAEL
g A TAl =3 =4 (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
HLSBAIS A 12,385,272 8,906,032 3,479,240
Al =3 =8 9,889,027 6,550,156 3,338,871
dHO| FRYM - B3 6,580,052 3,864,024 2,716,028
= - 239 Yot S5 1,884,652 2,296,324 A411,672
101 1A 1,459,462 1,877,134 N7 ,672
M IRtHZZ2SEs 1,459,462 1,877,134 N417,672
OaRMatate| QIR (563)
1,449,462,000& 1,449,462
OootagAHaed SZ2H|
10,000,000 10,000
201 Let=ghl 121,590 115,590 6,000
01 AlR2telHl 23,050 23,050 0
gx= 21,600
oZXX4 E9 FHILXZ
21,600,000& 21,600
OTAI 2 X Sl 1,000,000 1,000
O=28+¢ 450,000 450
2 55234l 98,540 92,540 6,000
O¢EH| 3,000,000 3,000
OXteaet] 17,000,000& 17,000
OAIZEHIS XY 18,540,000& 18,540
O8&82= € HA 60,000,000 60,000
203 HR=AH] 3,600 3,600
03 Al P 22| 3,600 3,600
022 & CAISMY =T
3,600,000& 3,600
206 M=Hl 300,000 300,000
01 M=Hl 300,000 300,000
O, =3t Aok & 2T 2
300,000,000 300,000
&8 X Ay 4,665,400 1,537,700 3,127,700
401 AIEHIL 20| 4,595,000 1,472,900 3,122,100
01 Al&ZHI 4,592,000 1,472,900 3,119,100
O==AlIZdlHl 250,000
oA&= Al EHI 250,000,000& 250,000
O2R& RXl&el SAt 700,000,000& 700,000
O3 % =4 3,200,000,000& 3,200,000
O2RuX EX AH2E 442,000,000 442,000
03 AIZ = 0HYI 3,000 0 3,000
OdRE RA2cl H =AHHl FUbI
1,000, 000& 1,000
Ot=22& £d 20U 2,000,000 2,000
405 RhaHF =Y 70,400 64,800 5,600
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PR MHIHPR
TN HESEAS A
8 M ZA =5 FA (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
O=%ud 2 =XsdH 15 +4
4,000,000 4,000
ANEZY & Jbl 1,084,000 1,172,000 88,000
401 AlZHIL 2 CHY] 1,084,000 1,172,000 88,000
01 AlZHI 1,082,000 1,169,000 87,000
O=23% & +=AZHY|
200,000,000 200,000
OSRHUASH ZFFX2HISA
450,000,000 450,000
OSFASSH B aAEY
254,000,000 254,000
OSFdS S8 =5 Holls YMSA
30,000,000 30,000
O3gSE =3 AE fg2e]
48,000,000 48,000
OHedzsd MHZ SAS JHISA
100,000,000& 100,000
03 Al CHHI 2,000 3,000 1,000
O=Fd9 & =AIE| 2,000,000 2,000
=2 = 89 60,478 59,924 554
101 Q144 56,478 52,924 2,554
M IRINZ2Z2RSE+ 56,478 52,924 2,554
OLHHXIF RIS AH2Y) 56,478,0002 56,478
206 MHZHI 5,000 5,000
01 M=l 5,000 5,000
OMEXIREZY 2SUM 7Y
5,000,000 5,000
deolorersi2 2el & 29 1,531,250 1,160,500 370,750
Zolotetstd Ald s Al2te 106,750 115,000 18,250
201 Zer=2 Y| 86,750 95,000 18,250
01 Al 2tefdl 52,000 54,000 2,000
Oget=3HI(8+2 8) 2,000,000 2,000
ogxtg 50,000,000 50,000
2 s==3tl 34,750 41,000 26,250
O=s2= & HMAl 31,750,000 31,750
OAIZ&H| | 3,000,000 3,000
206 MHZHI 20,000 20,000
01 M=ztl 20,000 20,000
OsAtzelg 224 =7 & 7
20,000,000 20,000
Zolotetsiz AlExy 8 3l 1,424,500 1,045,500 379,000
401 AlZHIL 2 0HY] 1,424,500 1,045,500 379,000
01 Al 1,422,000 1,043,000 379,000
Ogeolotetsiz 2l =AlZHldl
158,000,0002 158,000
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M

0
(o
0

3 - A - HE - BRI(B) - HRAK - BAS of e e 52
oZoloteteizd 285
300,000,000 300,000
Ogelotetazd a2
140,000,002 140,000
OZelot2tu 4233
12,000,000& 12,000
ottg=oldgz2t 3t
812,000,000& 812,000
03 Al 2Tl 2,500 2,500 0
OELINELENEE=
2,500,000& 2,500
Y =S ZH 2,496,245 2,355,876 140,369
oA (LSRG A) 2,360,363 2,228,704 131,659
el 2dd| 2,360,363 2,228,704 131,659
101 @12A4H| 2,204,843 2,003,184 111,659
01 &2 1,618,307 1,534,647 83,660
OJlzs 1,153,937
SL= 96,030,000 96,030
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